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(3) 80dB(A) O|4F ~ 85dB(A) O]t

20193 g4

B zAr [ 2 520]2]

AT AEE = 3-F ZEX A 2EXE H 2EXAE O
Mg MHEY 22 49 53 40 13
=282 H=¢d 1 2 1 1 0
daNdE MY 19 21 55 37 18
7bE, 7tEE 2 AE AR Y 2 2 9 7 2
=M % LIEME =Y 12 18 36 35 1
"z F0| ¥ BO/HE M= 8 13 17 14 3
oIz S 7| E0hH =X Y 4 7 9 9 0
AF3A, GE I MRIFYHE NEY 1 1 3 3 0
et A BEHHE MY 95 138 255 219 36
n2 o EAEHE MEY 71 107 235 208 27
Ha% 4=ME M= 22 23 56 55 1
1% 25 HNE2Y 30 41 91 20 1
FESHE M= 190 250 544 494 50
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olF, Y &AEI7| U AA M= 3 10 10 0
M| HEY 5 8 7 1
Z|EF 7|1AH R FH M= 48 64 130 118 12
ArsA 2 Egge NEY 34 53 90 81 9
7|Ef 2&FH MxY 21 41 468 444 24
7 MY 13 24 33 33 0
71Et & H=Y 6 8 8 7 1
AAE TIAH R FHH 2| 5 7 52 52 0
Fodte A H7IE M2, ¥ WHY 4 6 19 16 3
SZof W ADHY 1 1 1 1 0

HH| 632 910 2,278 2,040 238
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(4) AE ZAH

EES ArRIE = DE2Xs A 22X H | 2EX O
=8 MY 1 1 1 0
HMEMNE M= 5 7 7 0
olF, o|=EAUMAME H ZIONE HE=H 2 3 3 0
X € HEHE M= 3 6 6 0
Qo F0| ¥ ZOME M=xY 2 2 1 1
Qlaf 3 7|=E0iK SX Y 1 1 0 1
2et=d A Bt E MHEY 7 13 13 0
=2 gl EFAERE MY 17 24 24 0
HZ% 228 MEY 10 20 20 0
1 =25 HEY 2 7 7 0
FEMEHE NEZY 59 74 74 0
AR E, AFH, G, S o S4UYH M= 1 1 0 1
o, Y FaI|7] U AA M= 3 4 4 0
M7\ EH M=¢ 19 19 19 0
7|EF 7|AH H EH M= 58 71 71 0
HsSA R Ey gy MEY 6 8 8 0
7|Ef 2&TH| M= 3 3 3 0
) N [ 14 20 20 0
71Et ME M= 23 26 26 0
MUE T|AH R FH| =2 5 5 5 0
gzl A oA, 2l ® 7| e MH|AY 1 1 1 0

Al 242 316 313 3
(5) S22 0|83 ALY

EES AHRIE = DEX A 22X H | 2EXE O
MEE MZY 2 2 2 0
HeME M= 7 9 9 0
O|&, o|EAUMAME X ZIONE HE=H 1 1 1 0
7bE, 7tk 3 AMEE fEY 19 33 32 1
=X H HEHE M= 18 113 112 1
4o F0| Y FO/ME M= 3 4 4 0
I W 7|ZSO0iN SH Y 4 4 4 0
AJA ME 9 MQHKE M= 1 1 1 0
st Y SEtHE HZEY 28 38 38 0
olgg =23 Y 9U4E N=¢ 3 3 3 0
ng g EAENE MEY 120 177 168 9
Ha% =S MY 101 173 167 6
1% 25 H=d 61 110 108 2
FEISHE M= 607 1,054 1,026 28
AR E, AFH, @, 2 U S4UYH M= 48 69 66 3
o, FY &7 R AA M= 208 392 320 72
M7\ EH M=¢ 51 70 69 1
7|EF 7|1A R EH M= 392 623 619 4
skt X EYLY MEY 93 157 154 3
7|Et 25EH H=Y 61 390 367 23
7 MY 53 85 82 3
71t ME M= 74 100 97 3
MAE TIAH R FH| =2 50 75 75 0
sgUA A 1 1 1 0
25t 3 H7|E M2, ¥E MY 2 3 3 0
He 3 11 1 0
o 2 A0y 3 4 4 0
ME, ek 9 7|& MH[AY 1 2 2 0
g3l 9 oA, 2l % 7| 2 MH[AY 9 16 16 0

HH| 2,024 3,720 3,561 159
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20198 24AEZA

B zAr [ 2 520]2]

AT ALE TE2Xs A Z2EXs " 2EAST O
MRINE M= 7 9 9 0
7ts, 7t 3 A HEY 9 24 24 0
=M % LEME M= 18 25 25 0
"z F0| ¥ BO/ME M= 4 7 7 0
QItf S 7| E0hM =X Y 4 3 1
It A SEHHE HEY 24 37 37 0
2 g EtAENE MEY 32 50 49 1
Ha% 4=2HE =Y 13 20 20 0
1% 35 HNxY 2 7 7 0
FE/SHE M= 127 204 202 2
IR E, AFH, Y, 28 X SAUEH H=EY 55 115 100 15
o, Y &7 A AA Mz 37 47 44 3
H7|1EH| =Y 129 245 223 22
71Et 71A H FH H=Y 177 297 294 3
s 2 EgYe HMEY 53 145 127 18
7|Et 2&FH MY 30 78 78 0
7t M= 55 104 103 1
7B HE MEY 50 83 82 1
A 7IA X FH =2 55 94 92 2
FEot U HIE M, dE WA 3 5 5 0
Hed 6 20 20 0
Cof 3 A0HY 1 1 1 0
FEEMY 1 1 1 0
3| W BN, 2l 2 7|EF 7HQI MH[AY 20 36 36 0

A 912 1,658 1,589 69
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3. 27 - B gMEA
(1) EM -2 - ¢4 5 27

EES AR = TE2XE A 22X H | 2EXE O
HMEHNE M= 1 1 1 0
Qo F0| ¥ FOME M=xY 1 1 1 0
el 3 7SO0 SXMY 1 1 1 0
I, A U MRHEFHE HE=Y 1 3 3 0
2etEd A M E MHEY 41 79 75 4
olgg 23 ¥ 9YE N=¢ 4 4 3 1
ng g EAENE MEY 6 11 10 1
Has 2428 NEY 235 514 505 9
1% =25 HEY 1 1 1 0
FESHE MEY 3 7 7 0
o7, Y &S| R AA M= 150 302 234 68
7|EfF 7|AH H EH M= 5 15 15 0
AAsA W Eyy MEY 1 1 1 0
7 M= 4 6 6 0
71t HE H=Y 2 4 3 1
AYE 7IAH X EH =2 1 1 1 0
5t 8 H7|E Nal|, ¥ MY 1 3 2 1
ZOf 9 ADfY 3 6 6 0

HH| 461 960 875 85
(2 O & 240 Aot F2 - AT £7

kS AE = DE2XE A 22X H | 2EXEE O
MEE HZEY 2 4 4 0
28 NZY 1 1 1 0
HMEME M= 20 29 29 0
o|F, o|EAUMAME H ZIONE M= 2 3 1 2
b=, 7tg 3 AE HEY 16 30 29 1
X € HEHE =Y 13 63 33 30
Hx 30| A FO|ME MZEH 4 5 5 0
el 3 7|E0iK SXMY 3 4 3 1
ZIA, AEH G MQPHE H=Y 3 5 5 0
et A SEHHE HEY 59 79 78 1
olgg =23 Y 9U4E N=¢ 4 4 3 1
8 9 EAEKE MY 126 199 192 7
Ha% =88 MY 37 70 66 4
11X =25 H=Y 118 208 201 7
ZE7SHE M= 1,134 1,923 1,883 40
HXEE, AFH, G4, 28 A S4UEH M= 79 114 106 8
o7, FY &7 R AA M= 263 487 394 93
7|2 M= 125 195 191 4
7Bt 7|A % FH| MZE=HY 671 1,059 1,052 7
i A Eydy MY 156 258 249 9
7|Et 25FH H=Y 98 511 487 24
7 M= 62 94 92 2
7/EF HE MZEY 157 205 202 3
MEE 7AW FH =2 Y 91 155 151 4
SPUHOY 1 1 1 0
2ot R HY|IE NE|, ¥E HdY 6 8 8 0
a8 3 6 6 0
COf 9 AOfY 7 9 9 0
HE, o8 9 7= MH[AY 1 2 2 0
AAIE 22|, AFRX|R S A ME[AY 1 2 2 0
g3l 9 oA, 2l % 7| e MH[AY 12 19 19 0

HH| 3,275 5,752 5,504 248
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20198 24AEZA

B zAr [ 2 520]2]

S ANYE = TEX A 22X H L 2EXE O
stetE2d A et E HEY 6 11 11 0
g 3 EAENE MY 1 1 1 0
1% 25 H=d 1 1 1 0
FEHSHE ME=Y 2 5 5 0
olF, FY FS|7] R AA M= 1 1 1 0
71Et HE H=Y 1 2 2 0
Al 12 21 21 0
(11) LH2H2 0|8 ZteiojMol 27
A4S ANYE = TE2X A 22X H | 2EXE O
st Y SEtHE HEY 4 9 9 0
Has 42HME MY 1 2 2 0
FEIHSHE M= 1 2 1 1
o7, Y &7 R AA M= 1 1 1 0
7|Ef 25T MZY 1 5 5 0
a4 1 3 3 0
HH| 9 22 21 1
(12) 8% 8¢ =glo 8E
=ES AT TE2X A 22X H | 2EXE O
AREE NZEY 13 14 14 0
HMRHE MEY 10 71 71 0
b5, 7tet A MY HEY 1 1 1 0
=M % LEME M= 17 23 23 0
"o F0| U FOME M= 4 5 4 1
el 3 7|0 EXM Y 2 2 2 0
AJA QE 9 MQHKE MY 2 2 2 0
2etEd A BEtHE HEY 71 82 78 4
olgg 23 ¥ 9YE N=¢ 1 1 1 0
ng g EAENE MEY 69 87 85 2
Ha% 428 NEY 35 49 49 0
11X =25 H=Y 40 75 73 2
FE/MEHE NEZY 647 1,164 1,140 24
HXEE, AFH, G4, 38 U S4UEH M= 42 58 52 6
o, YU Fat|7] A AA MELY 47 64 55 9
HM7|1ZH| =g 89 131 110 21
7|EF 7|AH N EH M= 459 699 689 10
sA R Ey ey MEY 105 238 212 26
7|t 2&EH MY 90 744 693 51
7 M= 41 71 70 1
7/Ef HE MZEY 86 107 106 1
MEE 7AW FH =2 Y 118 173 172 1
2ot A HI|IE NE|, ¥E HdY 4 8 8 0
add 3 6 6 0
o 2 OA0HY 4 4 4 0
HdEEAMY 2 4 4 0
2354 1 1 1 0
AAIE 22|, AFRX|R S A0 ME[AY 2 3 3 0
@3l W OotA|, 2| % 7| IR MH|AY 11 15 15 0
Al 2,016 3,902 3,743 159
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(13) 252 AR RS 3527

AT ALE TE2Xs A Z2EXs " 2EAST O
11X =25 H=Y 3 11 11 0
FEHIEBHE HNEY 5 10 10 0
olz, Y &SI7] A AA M= 1 2 2 0
71EF 1A X EH M= 2 2 2 0
7|Et @EFH =Y 1 4 4 0

A 12 29 29 0
(14) ==27!

AT ALE 2L A Z2EXs g Z2EAE O
MEE NEY 1 1 0
HRNE M= 2 0
o=, o|FAUMAME| & ZOHE HME=H 0
=X % LEHE MEY 301 620 591 29
"z, 30| ¥ ZOINE M=Y 4 7 6 1
olaf H 7|Z04N =X 3 4 4 0
et A oEHHE HEY 42 78 72 6
n2 o EAEHE ME2Y 4 7 7 0
Has =88 M= 8 15 15 0
11X =25 N 3 5 5 0
FHIEHE N2 Y 15 25 24 1
MAEE, AFH, G, 8% % S4UEH M= 3 3 2 1
olg, Y &EI7| A AA M= 2 4 4 0
7|2 M= 2 3 3 0
Z1EF 1A X EH M= 24 37 36 1
Aaxt X ELy MHEY 9 11 10 1
7|Ef 2&5FH MY 8 15 15 0
7t M= 404 865 828 37
71t HE H=Y 47 61 58 3
s goy 1 1 1 0
F=Eot= 3 HIIE M2, dE WA 4 7 6 1
A48y 2 4 4 0
SZof N AOHY 3 6 6 0
ME, ote A 7l MHAY 1 2 2 0

HH| 895 1,785 1,704 81
(15) HEZ

AT A GE DE2AE A 22X E 0 22X o
deNHE MY 43 116 59 57
olg, o|gAMAME| U ZIOHE HEH 12 57 16 41

HH| 55 173 75 98
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EES ALE = B NEEES
AREE MZEY 22 35 0
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=X H HEHE =Y 4 4 0
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st EE 9 SEHE HEY 120 535 0
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1% 24 HEY 4 7 0
FEIHE N 37 63 1
MAEE, AFEH, G, 8% % S4UEH M= 1 6 0
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71t HE =Y 3 3 0
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HAH| 247 816 2
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HeHE Mx=g 33 46 0
olg, o|EAMAME| X ZIOHE HMEH 3 4 0
7bE, 7t 3 AME fEY 12 13 0
X € HEHE M= 27 30 0
" 30| X ZO|ME MZEH 11 14 0
el 3 7|Z0iN SX Y 17 21 0
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et A BEHHE A Y 232 414 0
o288 =23 Y 9U4E = 3 3 0
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7|2 M= 16 19 0
71Et 7|A % FH M= 252 343 0
Aaxt X ELy] XY 54 73 0
7|Ef 2&5TH| MY 15 36 0
7+ MY 30 34 0
7B HE MZEY 12 12 0
AAE TAH R FH 2| 17 33 0
2ot R HY|IE ME|, ¥E HdY 7 12 0
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Cof 3 A0fg 3 5 0
234y 3 7 0
AFHAIE 22|, AFXE 3 An] MHAY 1 1 0
g3 9 oA, 2] 3 7|EF 7HQl MH[A Y 2 2 0
HH| 1,506 2,324 2
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Ha% 42ME =Y 9 21 0
1% =25 H=Y 2 3 0
FEMEHE HNEZY 15 18 0
HMXEE, AFH, G4, 38 U S4UFEH M= 1 1 0
o7, FY &7 R AA M= 1 1 0
HM7|1ZH| =g 3 3 0
7|EfF 7|AH R EH M= 15 19 0
sk X EYLY MEY 2 2 0
7|Et 25EH H=Y 12 14 0
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71Et ME H=Y 18 24 0
AYE 7AW EH 2 2 2 0
SYPUAAAY 1 1 0
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7 MY 2 2 0
7EF HE MZEY 4 4 0
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a8y 2 2 0
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(56) 72T EYER|(LZA)-Clotd7tA TS0l 1,000kg O]TF
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deNdE MY 1 30 0
=X % LHEAHE Mz 1 1 0
Hz 30| X BOo|ME M 1 1 0
sistE2d 9 siethE HMEg 2 2 0
ng 3 EEAENE MY 2 2 0
1% =25 H=Y 2 2 0
FE/SHE MY 5 7 0
7|EF 7|AH W EH| HEY 4 11 0
7|Ef &% HEY 1 1 0
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71Et & H=Y 1 1 0

HH| 22 60 0
(57) &7
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HAH| 9 15 0
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AREE MZEY 104 122 0
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O|E, o|EAdMAME H ZINE HE=H 1 1 0
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"z 30| A ZO|ME MEH 22 24 0
el 3 7|Z0iKH SX Y 8 11 0
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g 3 EAEKNE MY 29 32 0
Ha% d=HE MY 10 10 0
11X =25 N 1 1 0
FEISHE M= 13 16 0
MAEE, AdFEH, o, 82 % S4UEH M= 5 15 0
olF, FY FS|7] R AA M= 5 7 0
HM7|1ZH| =g 1 1 0
7\Ef 1A N EH M= 5 5 0
Aaxt X ELy HMEY 4 5 0
7|t 2ETH HEY 1 1 0
7+ HE=Y 7 7 0
71Et ME H=¢Y 4 7 0
COf 9 ADiY 1 1 0
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ARE NEY 1 1 0
st Ed % SEHE MEY 6 7 0
Has 2428 NEY 4 4 0
1% 2% H=d 70 120 0
FEISHE M= 15 32 0
IR E, AFH, Y, 88 % SAUEH H=EY 1 2 0
o7, Y &o7|7] R AA H=H 2 5 0
7\Ef 1A W FH M= 2 2 0
skt X ELY MEY 2 8 0
7|Et 25EH H=Y 1 2 0
71Et HE M=Y 4 4 0
A 1 1 0

A 109 188 0
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EES AR BRd NESCES
AREE MZEY 358 438 0
=8 =Y 56 65 0
EHEf M= 1 1 0
HRME Mx=Y 850 1,157 0
O|E, o|EAUM M2 % ZOXE M= 257 287 0
7bE, 7Hd 9 HEY 204 230 0
=4 ¥ LHEME HEY 307 393 0
4o 0| Y ZOME M= 235 374 0
oIy H 7|E0iN =X Y 247 286 0
AJA E 9 MOQHKE M= 27 30 0
et A AN E NE=Y 1,768 2,141 0
o228 23 % oUYE HZEY 29 37 0
ng 3 EAENE MEY 1,566 1,877 0
Has S=HE MY 337 524 0
1% 245 =Y 165 218 0
FEIEHE HNE=Y 2,534 3,119 0
MAEE, AFEH, ¢, 8% % S4UTH M= 374 417 0
o7, MY Fu7|7] R AA M= 389 443 0
7| M= 425 465 0
71Et 71A X FH H=Y 1,161 1,373 0
HsA R Ey Yl MEY 303 376 0
7|Et 25EH H=Y 88 112 0
7 MY 437 558 0
71Et & H=¢Y 354 411 0
AMAE T|AH R FH 2| Y 176 197 0
SYUAA Y 4 4 0
5t 8 H7|2 M|, ¥ MY 57 67 0
HE Y 10 20 0
ZOf 3 A0y 40 48 0
2 9 ¥0¢ 1 1 0
e 9l SAFA 1 1 0
HESAMY 1 1 0
2t 3 5 0
ME, sk 9 7|2 MH[AY 3 4 0
AFHAIA 2|, AFXE W Ao MHAY 3 4 0
S, T W AR EY WY 1 1 0
gz 9 oA, 2] % 7|EF 7HQl MH[AY 22 23 0

Al 12,794 15,708 0
(70) S4ofeHgH|(QH ZAITHA- L ALHS 0] YOjLtE EHEEX]

A4S AR = BRsE NESGES
MIINE M= 1 1 0
AJA HE 9 MOQHHE M= 2 2 0
St 9 SENE NEY 26 67 0
ng g EAENE MEY 2 3 0
1% 24 HE=Y 1 1 0
FEISHE M= 1 2 0
MAEE, AdFEH, S, 82 % S4UEH Mz 2 13 0
M7\ EH M= 1 1 0
skt X EYLyY MEY 1 1 0
Tof W AN 1 3 0

HAH| 38 94 0
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(76) AXHH|-AE E[CHAFEZFO| 50 kg/AlZE O, MEQl B2 HAAH[™H 50 kw/A|ZE O
=S NEEESIES B NESGES
MEE NZY 11 15 0
HeHE M= 18 36 0
b=, 7tg 3 AEh HEY 4 5 0
X % LHEAHE MEY 6 6 0
4o F0| U FOIME M= 1 1 0
el 3 7|Z0iKN SX Y 7 7 0
A3A, CE Y MRYHE HEY 1 1 0
st Ed % SEHE HEY 22 36 0
o228 2 Y 9U4E N= 2 3 0
g 9 EAEHE MY 23 32 0
HZ% ZE2MHE MY 15 18 0
1% 25 H=d 2 2 0
FEHSHE ME=Y 180 288 0
MXEE, AFH, G4, 28 4 S4UEH M= 3 4 0
o7, Y &AEI|7| H AA M= 1 1 0
7|18 HEY 4 8 0
7\Ef 1A AW EH M= 4 4 0
s % Eggy HEY 3 3 0
7+ HE=Y 1 3 0
71Et ME M= 2 3 0
ZOf 3 A0y 1 2 0
gs| 9 ChN|, 2| 9 7|Et 74Ol MH[A Y 3 5 0
HH| 314 483 0
(77) AX=EH|-A=E E[CHAFEZO| 50 kg/AlZE O, MEQl B2 HAAH[™H 50 kw/AlZE OJ2t
EES AR = B NECES
AMEE MZY 17 33 0
28 =4 5 6 0
HeHE Mx=g 35 78 0
o|F, o|EAMAME| X ZIOKE M= 1 1 0
7hE, 7 WA M= 22 27 0
Sx % LHEAHE M= 9 10 0
"z, 30| ¥ BOINE M=Y 6 6 0
I W 7|SO04N SX Y 15 35 0
2etEd A B E HEY 91 142 0
o288 =2 Y 9U4E N= 9 11 0
ng 3 EAENE MEY 101 183 0
HZ% 22ME MEY 24 37 0
1% 245 =Y 4 6 0
FE7SHE MY 521 728 0
MAEE, AFEH, G, 8% % S4TH M= 20 29 0
o7, MY Fu7|7] R AA M= 9 24 0
M7\ EH M=¢ 19 27 0
7\Ef 1A W EH M= 8 21 0
HsA R Ey gl MEY 11 27 0
7|Et 25%H H=Y 3 4 0
7 MY 1 1 0
71t & H=¢Y 10 14 0
2ot W HIIE NE|, ¥E MY 2 2 0
gzl 9 ChN|, 2] % 7|EF JHQl MH[AY 3 3 0
A 946 1,455 0
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(78) =aHi7] FX|(Ol54 He)-2HHA e FH(RMZE 498)-HS S 60m/min0lE

=S NEEESIES B NESGES
MEE NZY 4 9 0
22 M=z 1 1 0
HMeME M= 3 3 0
olg, o|gAMAME X ZOHE HEH 1 1 0
7h=, 7 WA M= 5 6 0
SN ¥ LHEME HEY 2 4 0
oI H 7IS0iN SX Y 8 11 0
AIA QE 9 MAYAE M= 2 2 0
2etEd AU B E HEY 50 70 0
2 gl EAENE MEY 22 28 0
HZ% ZE2MHE MY 3 8 0
1% 2% HEY 4 4 0
FEHSHE ME=Y 235 2,345 0
MXEE, AFH, G4, 28 4 S4UEH M= 13 23 0
o7, Y &AEI|7| H AA M= 8 19 0
7|18 HEY 6 7 0
7\Ef 1A AW EH M= 9 12 0
s % Eggy HEY 4 6 0
7+ HE=Y 5 6 0
7B HE MZEY 4 6 0
AE TIAH W EH 2 1 1 0
ot U H7|E M|, |E AN 2 3 0
HH| 392 2,575 0

(79) =AHEZ| FX|(O|SA] HL)-Qt™MAAL L& HH|[(RHZE 49F)-HISZ 60m’/min0| Tt

SES JNISFIRPS BO4E N E
AEE MZY 6 10 0
HMeME M= 3 3 0
o|F, o|EAMAME| X ZIHE MEH 2 2 0
7h=E, 7 WA M= 10 10 0
SN ¥ LHEME HE=Y 7 8 0
"z, 30| ¥ BO|INE M=Y 3 5 0
ol 3 7|0 EXMY 6 6 0
AJA HE 9 MOHKE MY 2 2 0
et A N E NE=Y 56 68 0
g 3 EAEKNE MY 25 46 0
Has d=HE MY 7 12 0
11X =25 N 8 13 0
FE57tSHE NEY 176 270 0
IR E, AFH, g4, 88 4 SAUEH =Y 27 83 0
o7, Y Fa7|7] E AAH M= 18 41 0
M7\ & M=¢ 18 23 0
7\Ef 1A A FH M= 16 22 0
HsA R Eyl MEY 9 14 0
7|Et 2EFH =Y 2 2 0
s E 9 13 0
71Et HE H=Y 5 7 0
ot U H7|E M|, |AE AN 1 2 0
A 416 662 0
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2019'3 AAHE3

A
=

B zAr [ 2 520]2]

T2 A = 3EF ZEXSF A 2EXNSE H 2EXE O
19l 10 11 10 6 4
29! 33 37 57 38 19
39l 36 44 85 60 25
491 33 45 99 76 23
521 Ol 87 152 726 662 64
A 199 289 977 842 135
(2) 85dB(A) O|&f ~ 90dB(A) DIt
T2 A = 3EF ZEXS A Z2EXNS H Z2EXE O
19! 23 29 23 19 4
29l 33 40 54 48 6
39l 54 68 119 103 16
40l 55 69 126 112 14
5Q1 ol ¢ 138 220 787 699 88
HH| 303 426 1109 981 128
(3) 80dB(A) O|&f ~ 85dB(A) DIt
= AR = 3EF ZEXS A Z2EXNS H Z2EXE O
19! 39 50 39 35 4
291 91 116 139 120 19
39l 117 168 243 211 32
491 117 165 283 259 24
501 of 4 268 411 1574 1415 159
A 632 910 2278 2040 238
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20191 2t gtAME 2Ar [H|RY 5Q10]8H]

T2 INIERSEES TEXs A L 2EX H L 22X O
10l 1 1 1 0
29l 1 2 2 0
391 1 1 1 0
591 O|4 1 1 1 0
HA| 4 5 5 0
(2) 82 0|8%t s
T2 N 2R A 2EXE 2 22X o
10l 2 2 2 0
291 7 12 11 1
391 7 14 14 0
49| 7 12 12 0
591 Of 4 9 43 43 0
HH| 32 83 82 1
3) Mels
T2 NEEE DE2XE A 22X 2 Z2EXE o
10l 43 43 41 2
291 35 50 49 1
391 47 69 69 0
409l 40 64 64 0
591 Of 4 41 68 68 0
HH| 206 294 291 3
4) AT ZHEH
T2 AtRAE = 2R A 2EXE 2 22X o
10l 43 43 42 1
291 50 56 56 0
391 49 68 68 0
409l 37 59 59 0
501 Of 4 63 90 88 2
HH| 242 316 313 3
(5) 82 0|83t AAY|
T2 INFERSIES cEXs A 2EX H L 22X O
10l 312 312 293 19
29l 385 517 497 20
39l 410 645 621 24
40l 377 655 629 26
521 of4t 540 1,591 1,521 70
HH| 2,024 3,720 3,561 159
(6) YE x|
w2 INFERSIES DEXs A 2EX H L 22X O
10 146 146 139 7
29l 180 235 224 1
39l 184 292 288 4
40l 148 279 254 25
591 Of 4 254 706 684 22
HH| 912 1,658 1,589 69
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20191 2t gtAME 2Ar [H|RY 5Q10]8H]

3. B3 - B LMEY
(1) EM -2 - ¢4 5 27
T2 AMNEE 2R A 22X 2 22X o
19l 91 91 86 5
20l 84 125 114 1
39l 97 193 182 1
49| 83 200 177 23
501 O] 106 351 316 35
HH| 461 960 875 85
() 90t E= 52| ¢of- == - ME 28
T2 AR = 2R A 2EXE 2 2EXE o
19l 515 515 486 29
29l 686 898 864 34
391 675 1,065 1,031 34
49l 555 978 953 25
591 o4 844 2,296 2,170 126
A 3,275 5,752 5,504 248
() =HEo] ¢F0/F &= LA3tE[Es 27
T2 ALRAE = 2R A Z2EXE 2 Z2EXE o
19l 31 31 31 0
29l 63 100 91 9
391 75 140 135 5
49l 73 177 168 9
591 O|4 110 403 363 40
HAH| 352 851 788 63
(@) AIHE, HIAK), 22ato] Zo 2
e At = TE2XE A 22X H O Z2EXE O
190l 15 15 15 0
29l 19 32 30 2
391 17 29 29 0
49l 30 68 67 1
501 O] 35 100 99 1
HH| 116 244 240 4
(5) BadE & EAXE 27
e AR = TEX A 22X H L ZEX O
19l 11 11 1 0
20l 17 26 24 2
391 15 30 30 0
49l 18 41 37 4
501 O] 25 81 75 6
HH| 86 189 177 12




20191 2t gtAME 2Ar [H|RY 5Q10]8H]

o
e AE = 22X A Z2EXNSE H Z2EXS O
29! 2 4 3 1
49! 1 3 3 0
5Q1 O] 2 3 3 0
HH| 5 10 9 1
7) ZX7) - UYzlEg - dY EXE - A0 M SE &
e AEE = 22X A Z2EXNE 22X O
19l 11 11 10 1
29! 13 17 12 5
39l 13 28 24 4
49! 8 23 16 7
5Q1 O] 8 30 25 5
HH| 53 109 87 22
@) T3 FEA & FHET
T2 AT = D2 A 2EXNSE 22X O
19l 5 5 5 0
29! 14 23 23 0
39! 13 26 25 1
491 15 30 29 1
521 Ol 15 60 58 2
HH| 62 144 140 4
9 =5 7|t 27|22 MH, 88372 &7
e AR = TEX A 22X H L 22X O
2l 47 47 43 4
20! 55 74 71 3
39! 49 75 70 5
491 51 104 99 5
501 of 4 61 185 159 26
HA| 263 485 442 43
(10) ELYES| B2 ALTHol 27
e ASE = 22X A Z2EXNSE 22X O
20! 4 7 7 0
39l 3 5 5 0
491 2 3 3 0
501 of 4 3 6 6 0
HA| 12 21 21 0
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20191 2t gtAME 2Ar [H|RY 5Q10]8H]

T2 ARAE = TEXs A 2EX L 22X O
10l 1 1 1 0
20l 1 1 1 0
39! 3 7 6 1
49l 1 2 2 0
591 O|4 3 11 11 0
HH| 9 22 21 1
(12) 8% 8E =gol 8XE
T2 AT TEXs A Z2EX 0 22X O
10l 275 275 264 1
20l 436 550 527 23
39! 419 610 598 12
49l 333 568 557 11
501 O] 553 1,899 1,797 102
HH| 2,016 3,902 3,743 159
(13) £ AL 5&7
T2 AR TEX A 2EX H L 22X O
29! 2 3 3 0
39l 5 9 9 0
49l 2 3 3 0
591 of4 3 14 14 0
HH| 12 29 29 0
(14) 522
T2 AtRHE TEXs A Z2EXE 2 ZEXE O
10l 163 163 155 8
29l 195 292 278 14
391 207 401 384 17
49| 140 332 315 17
591 o4 190 597 572 25
HH| 895 1,785 1,704 81
(15) HEZ
T2 AMNEE 2R A 22X H O 22X o
19l 10 10 4 6
29! 14 23 12 1
3¢l 9 22 10 12
49l 6 16 10 6
501 o4 16 102 39 63
HH| 55 173 75 98

71



20191 2t gtAME 2Ar [H|RY 5Q10]8H]

T2 A = 22X A Z2EXNSE H Z2EXS O
19! 25 25 22 3
20! 47 71 67 4
3¢9l 49 82 81 1
49! 47 100 95 5
5Q1 O] 67 248 218 30
HH| 235 526 483 43
(17) =7
T2 A = 22X A Z2EXNSE 22X O
19 28 28 17 11
20l 47 76 64 12
3¢l 45 88 75 13
49! 49 108 85 23
5¢1 O]+ 64 234 155 79
HH| 233 534 396 138
(18) R2lMe L& Y2 H2 Helol 2
T2 AR = 22X A Z2EXNSE E 22X O
19 6 6 6 0
20l 9 14 12 2
3¢l 6 11 11 0
49! 7 18 18 0
521 Ol¢ 13 58 55 3
HH| 41 107 102 5
(19) At & OJMHX|(PM-10, PM-2.5) & LHX| A0 2=
T2 AR = 22X A ZEXNSE E Z2EXSE O
19 21 21 19 2
20l 20 27 26 1
3¢9l 25 46 40 6
49! 22 51 49 2
501 of 4 31 467 454 13
HA| 119 612 588 24
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20199 ZAstAA e zA [ 2D 52102

(=]
(1) 832, 2 ks FI|20| 2510 &5 = 452 HE 5= o
T2 A = DE2AE A g 22X o
19l 1 1 1 0
29! 5 6 6 0
39l 5 13 9 4
491 8 16 16 0
5¢1 O] 9 39 33 6
HH| 28 75 65 10
() 8MZ, tdz So= ¥2-F4 L& RS Bte Ha
T2 AEE = TEA A g | ZEXE O
19l 14 14 14 0
20l 21 33 33 0
39l 20 39 39 0
49l 25 48 47 1
5Q1 O] 35 107 105 2
HH| 115 241 238 3
() EXH7| £ 7|AE & S
T2 AEE = TE2AE A g | ZEX=E o
19l 9 9 8 1
29! 10 14 6 8
39l 9 16 14 2
491 17 13 4
5Q1 O] 21 16 5
HA| 44 77 57 20
(4) FBS Hi2 E= £ ote
e ALY = TEAE A g 22X o
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e ArE = TEX A 22X H | 22X O
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39l 1 1 1 0
HH| 3 3 3 0
(8) NRO| B2 Eof Ax2|sHe
e ArRIE = D2 A Z2EXNE 22X O
19l 9 9 8 1
29! 11 16 15 1
39! 19 31 29 2
491 12 22 21 1
5Q1 O]+ 13 26 25 1
HH| 64 104 98 6
9 GRS A8 =4 s
e AEE = T2 A ZEXNFE Z2EXSE O
19l 110 110 101 9
29! 199 249 221 28
39l 219 327 297 30
40l 197 335 318 17
501 of 4 379 716 635 81
HH| 1,104 1,737 1,572 165
(10) AL{0i|M nEO| Ldldt=
T2 AMEE DEXE A Z2EXE H O Z2EXE O
39l 1 2 2 0
491 2 5 5 0
501 of 4 4 8 8 0
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74



20191 2t gtAME 2Ar [H|RY 5Q10]8H]

(11) 7tE=E =& |3t T
e AE = ZEXE A Z2EXFE H | ZEXSE O
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49! 119 256 191 65
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(1) ZY2-¥Hsd 3= Ol
e AT = HRsd NESGE
1¢l 86 208 1
29! 111 348 1
3¢l 129 452 0
49 107 353 0
5Q1 O]+ 150 623 0
A 583 1,984 2
(2 ZYA-UYS5 3= O/
e AR = HRsE NESGES
12l 103 232 0
20l 165 368 1
39! 154 385 0
4921 145 379 0
501 Ol¢ 190 451 2
HAH| 757 1,815 3
(3) WE|-¥HsEH 3& oY
e ARE B S ENOES
19l 26 28 0
29! 46 57 0
39! 44 59 0
491 37 42 0
501 of 4 56 100 0
A 209 286 0
(4) ME7|-YH53 3 O|g
e AHE = Hesg NESGES
12l 52 61 0
29! 91 110 0
39l 99 120 0
40l 93 117 0
501 of 4 118 159 0
HA| 453 567 0
(5) 3¢ & DO|AE-MEFAALY EZ|AQ-HA5tE 2= Ol
e AT = HRsd NESGES
12l 316 419 1
29! 397 598 1
3¢l 509 822 2
491 461 748 2
50 oY 710 1,378 2
A 2,393 3,965 8
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19! 52 60 1
20! 71 103 0
3¢9l 86 107 2
491 74 92 0
5Q1 O] 117 163 0
A 400 525 3
7) 2 ¢l A ZO|AE-X|EAQl, EIYIAYQ-HHSHES 22 O
T2 AR = B S ENe RS
19 8 8 0
20! 7 7 0
3¢l 13 17 1
49! 4 5 0
5¢1 O]+ 12 15 1
HH| 44 52 2
8) 2 ¢l A ZO|AE-X|EA2Ql, EfYIAYQ-FHsHS 2= OJTt
T2 ARE = B S EN R
19 11 15 1
20! 7 9 0
3¢l 10 12 1
49! 8 16 0
5Q1 O] 4 12 18 0
HH| 48 70 2
9 Fgfel & ZO|AE-DO|AE-FZASHE 28 0|4
T2 ARE = BT S EN O
10l 147 175 2
20! 226 268 1
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49! 232 341 0
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20! 22 24 0
3¢l 19 22 1
49 19 33 0
5¢1 O]+ 22 30 0
HH| 99 136 2
(13) E|ZE (YA E)-0.5= 0|+t
e BERsE S EN R
19 20 20 0
20! 37 43 0
39! 45 57 1
491 53 64 1
501 o4 92 102 0
HH| 247 286 2
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e BT S EN O
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3¢9l 46 54 0
49! 40 41 1
521 Ol¢ 69 9 0
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19! 1 1 0
20! 2 2 0
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491 3 3 0
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39l 36 88 1
491 29 162 0
521 Ol¢ 48 199 0
HH| 157 592 2

84



(1) MEEH7[-ANZAZ0| 30E(294kN) O 4

20199 ZAstAA e zA [ 2D 52102

e AL = 2R M=o 2
19! 57 238 0
20! 78 290 0
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49! 76 401 0
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T2 AR = B S ENe RS
19 48 151 1
20l 49 123 0
3¢l 61 205 0
49! 58 191 0
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23) =217|
T2 ARE = B S EN R
19 37 45 0
20l 36 80 0
3¢l 72 108 0
491 52 80 0
521 Ol¢ 50 168 0
HH| 247 481 0
(24) 21447
T2 ARE = BT S EN O
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20! 154 253 1
3¢9l 150 268 0
49! 105 223 0
521 Ol¢ 167 315 0
HA| 676 1,228 1
(25) SE7| At
T2 ARE = BT S ENe RS
12l 368 722 2
20! 394 951 4
3¢9l 398 925 0
40l 308 782 1
5Q1 O] 402 1,215 1
HA| 1,870 4,595 8

85



(26) S&7|AH-EE 7|

20199 2

sas A [H2Y 591030

e AHE = Hesg M=o 2
19! 436 659 0
20! 521 857 2
3¢9l 522 886 0
49! 386 696 2
5021 of &t 527 906 3
A 2,392 4,004 7
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49! 29 38 0
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e AR = B S EN R
19 38 80 0
29! 36 91 0
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49! 29 71 0
501 of 4 45 159 0
A 200 525 0
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e ARE = BT S EN O
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20l 331 569 3
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49! 251 451 0
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e ARE = B S EN R
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20! 79 109 0
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HH| 331 523 1
(34) AEIISE7|A-AE-E|
e ARE = BT S EN O
19l 32 38 0
20! 70 78 0
39l 52 83 0
49l 53 81 0
501 O|AH 119 199 0
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(35) AE/IESE7|A-AE=2|
T2 ARE = BT S ENe RS
19! 37 46 0
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49! 61 92 0
501 O|A 146 235 0
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T2 ARE = B S EN R
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49! 33 45 0
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T2 ARE = 2o S EN O
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= AR = B S ENe RS
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44) YHE7|-HAHLH 0.2 MPa(kg/cm?) 0|40l 3tetE5d FHF=&7|
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40l 23 75 0
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591 of4 84 110 0
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= T 2R EXCE
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29 436 533 0
32 446 590 0
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T2 AL = 2R M=o 2
19! 696 815 0
20! 955 1,019 0
3¢9l 1,159 1,294 0
49! 1,053 1,182 0
5Q1 O] 1,646 2,057 0
HH| 5,509 6,367 0
(53) 5&7|==8)
T2 AR = B S ENe RS
19 33 33 0
20l 64 67 0
3¢l 62 67 0
49! 70 79 0
5¢1 O]+ 164 181 0
HH| 393 427 0
(54) R FOIAEH
T2 ARE = B S EN R
19 234 403 0
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3¢l 323 479 0
491 265 377 0
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T2 ARE = BT S EN O
19 1 1 0
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501 o] At 4 7 0
A 13 29 0
(56) 7tATS BT (DZA)-lahd7tA EEE0] 1,000kg OfTt
T2 ARE BT S ENe
19l 4 0
20! 3 0
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19l 1 2 0
29! 1 1 0
39l 2 6 0
491 1 1 0
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HH| 9 15 0
(58) #&l7|
e AR = B S ENe RS
19l 3 6 0
20l 14 21 0
39! 23 39 0
491 23 47 0
5¢1 O]+ 33 72 0
HH| 96 185 0
(59) &X7|
T2 ARE = B S EN R
191 12 186 0
20l 12 265 0
39! 15 255 0
49 9 42 0
501 0|AH 21 278 0
HH| 69 1,026 0
(60) H=E7|
e ARE = BT S EN O
191 26 355 0
29l 43 601 0
39l 37 562 0
49l 27 644 0
521 Ol¢ 45 813 0
A 178 2,975 0
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T2 ARE = BT S ENe RS
19! 81 299 0
29l 98 429 0
39! 104 471 0
49! 68 374 0
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19! 3 7 0
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A 20 102 0
(64) LA7|(EH)
T2 ARE = B S EN R
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3¢l 2 4 0
49! 1 1 0
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= ARE = BT S EN O
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20! 57 63 0
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49! 85 110 0
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A 430 515 0
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(76) = EH|-HE Z|CHALE 20| 50 kg/Al



(77) Ax2H|-B= ZCHAREEO| 50 kg/AlZt Old, MEQl % FHAH|HE 50 kw/A|ZH OJTt
T2 AL = 2o M=o 2
19! 108 155 0
20! 173 251 0
3¢9l 187 289 0
49! 175 263 0
5Q1 O] 303 497 0
HH| 946 1,455 0
(78) =AH| 7| FX|(O|S4A! M L)-HHAA T4 BH|(FHEE 495)-HIF 2 60m'/minO|ef
T2 AR = 2o S ENe RS
19 33 39 0
20l 68 91 0
3¢l 62 112 0
49! 71 2,098 0
5¢1 O]+ 158 235 0
HH| 392 2,575 0
(79) =aHi7| X054 HL)-tHAAL T HH[(FSHEE 49F)-81FFF 60m/min0[ Tt
T2 ARE = 2o S EN R
19 49 58 0
20l 73 151 0
3¢l 89 128 0
49! 70 93 0
521 Ol¢ 135 232 0
A 416 662 0
(80) =AHi7| X054 HQ)-2eidFH=E, 7 FEE 23 4
-BiE 2 150m’/min0| &
T2 ARE = BT S ENO
19! 30 51 0
20! 45 50 0
3¢l 69 91 0
49! 62 79 0
5¢1 oIy 86 128 0
A 292 399 0

926



(81) ZAHY7| BX|(0|5A] HQ)-He|CHMRHEE, S{7IHARHSE 2a M|
-HiE 2 150m’/minD| 2t
e ARE = Hesg SENO RS
19l 40 48 0
20l 81 110 0
39l 82 100 0
49 78 98 0
501 O] 115 164 0
HA| 396 520 0
(82) =AH|Z| HX|(OlaA He)-HE2TAY o H|-Bl &2 150m/min0| 4
= ARE BT SENOE
10! 62 92 0
29l 109 160 0
39l 113 149 0
491 125 159 0
5Q1 O] 203 287 0
HH| 612 847 0
(83) =AH|Z| EX|(OlaA He)-HY2TAY - H|-BiS2F 150m /min0| 2t
e AR BRF M=o 2
1¢l 129 218 0
29l 170 234 0
39l 207 304 0
491 186 263 0
5Q1 O] 288 452 0
HH| 980 1,471 0
(84) maHi7| X|(OlsA HL)-7|Et Fi=F 23 AH|
e ARE = B2y S ENO
19l 19 33 0
20! 38 57 0
39l 57 81 0
491 49 65 0
5¢1 O] 58 137 0
HH| 221 373 0
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(3) 80dB(A) O|4 ~ 85dB(A) O|Tk

X4 ALY = B3-S ZEXS A 2EXNS H 2EXE O
M2EEA 8 9 18 18 0
SAFAA 47 54 117 104 13
O &G A 42 54 109 102
QXA AN 19 24 53 46
SFEIYA 10 15 62 50 12
D Z A 10 12 21 19
SUHE A 29 41 322 285 37

MEE HXK|A 7 9 28 26 2
47|= 137 203 338 307 31
PARS 1 8 10 20 19 1
R 23 35 83 72 11

SHEHT 35 57 120 112 8
HetsE 22 35 105 67 38
Hetg e 18 32 60 54 6
4= 101 154 285 251 34
ddee 112 158 519 490 29
HNFEE 4 8 18 18 0

A 632 910 2,278 2,040 238
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20199 ZAstAA e zA [ 2D 52102

WNE ATHE = ZE2X A 22X H
MEEEA 2 3 3 0
SAZAA 3 4 4 0
O A 8 12 12 0
QUE AN 7 11 10 1
SFE9A 121 122 121 1
CHE 2 A 3 5 5 0
4= 50 83 83 0
AL 2 2 2 0
SHEL 2 6 6 0
SHEE 2 5 5 0
Mtsx 13 24 24 0
Matg = 7 13 13 0
AYE: 6 7 7 0
AaHE 13 15 14 1
NEE 3 4 4 0
HA| 242 316 313 3

(5) sHZ2 0|83t ALY
NE] ALRIE &= d2X A 22X B | 22X O
MEEEA| 151 264 237 27
A A 131 213 207 6
CH A 191 290 275 15
QUE AN 101 172 162 10
ST AA 90 149 138 1
CH A 38 72 66 6
SAEAA| 43 133 109 24
MBS ERKA| 1 2 2 0
4= 597 925 900 25
e 27 49 48 1
SHET 74 136 132 4
SHYT 63 131 130 1
Hetgs e 77 121 118 3
Mote= 58 130 127 3
Aaer 187 294 284 10
A E 171 600 588 12
e 24 39 38 1
HH| 2,024 3,720 3,561 159
(6) GHE K|

WNE AR = 2R A 2EXE 2 22X o
MEEEA| 58 104 93 11
A A 30 56 52 4
CH A 50 70 64 6
QIH A AN 41 76 70 6
ST IA 197 400 390 10
CHM A 18 34 32 2
SAESA| 18 46 45 1
MBS EEXKA| 4 12 12 0
Z71= 253 431 410 21
A I 21 36 36 0
SEEL 39 75 75 0
SHYT 21 42 42 0
Mt 45 74 74 0
Metge 26 53 50 3
AYER 38 58 57 1
AYEE 49 85 81 4
HMEE 4 6 6 0
HH| 912 1,658 1,589 69
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20199 ZAstAA e zA [ 2D 52102

N AT = 2L A Z2EXE H Z2EXS O
ME5EA 28 39 37 2
SARZGA| 24 47 46 1
O & A 40 66 60 6
AIHEAA 22 42 38 4
FFEYA 30 58 57 1
O & A 20 34 34 0
SAEGA| 12 22 21 1

MBS XA 4 8 6 2

471 358 765 731 34

ZRE 27 49 48 1
FEEE 39 91 89 2
SHHE 31 54 50 4
s 46 102 95 7
et = 52 115 110 5
BHEE 83 147 143 4
Az 44 84 78 6

HEE 35 62 61 1

HH| 895 1,785 1,704 81

(15) HEZ

X4 AR = 22X A Z2EXNSE E 22X O
MESEHA| 5 11 5 6
SARZAA| 2 13 6 7
T2 A 11 26 9 17
SAE A 1 1 1 0

87\ 20 58 30 28
HEtRE 7 33 1 22
Y8 9 31 13 18

HH| 55 173 75 98

(16) €& E= otg 27

X4 ANEE 22X A ZEXNSEE Z2EXSE O
ME5EA 13 30 28 2
SAZAA| 8 13 13 0
O & A 16 29 29 0
AHSHA 3 12 4 8
O A 2O A 3 6 6 0
SAEGA| 3 35 18 17

MBS ERX[A| 2 3 3 0
4= 129 272 263 9
ZRE 2 4 4 0
=ENMEC 7 27 27 0
SHEHE 4 11 10 1
HetsE 3 3 3 0
HEtE = 5 14 12 2
ANED 14 23 21 2
Az 22 43 41 2
HEE 1 1 1 0
HH| 235 526 483 43
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20199 ZAstAA e zA [ 2D 52102

NE: IR DE2X A 22X H O 22X O
MESEA 10 25 13 12
FLE A 4 6 6 0
CH A 12 25 18 7
QIHAAN| 2 3 2 1
T2 A 9 25 14 1
CHEZ A 7 20 9 1
S4M4FAA 1 4 4 0
SEHXK|A| 4 5 4 1

A7 57 134 94 40

rag. L 11 24 18 6
SHEL 15 53 29 24
SHUE 15 35 31 4
Mt 22 37 30 7
Mg e 24 62 59 3
AAE D 23 45 39 6
AMEE 1 19 14 5

MFEE 6 12 12 0

HH| 233 534 396 138

(18) ReldF == "I X

X4 AN = 2R A Z2EX H O Z2EXE O
ME2EEA 1 1 1 0
SAZAA 2 7 6 1
O A 5 23 21 2
QAN 1 3 3 0

4= 12 28 27 1
SHYE 2 5 4 1
Metsx 4 8 8 0
Mote= 2 4 4 0
Aaer 6 13 13 0
AMNYE 5 12 12 0

ME= 1 3 3 0

HH| 41 107 102 5

£ OJMHX|(PM-10, PM-25) ZE LUHX|H0 A =22/%tY

X4 AMNEE DE2XE A 22X H O 22X o
DL ZSlA| 15 19 19 0
SMESA 5 159 153 6

H71= 24 62 54 8

AL 2 5 0
EHET 1 2 0
SHUE 25 44 41 3
Metsx 5 12 12 0
MEtd e 1 2 2 0
AYEE 30 70 65 5
AT 1 237 235 2

HH| 119 612 588 24
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B zAr [ 2 520]2]

Ss2 313 NEE | HEE gy | s | A2 | o
™ =) Azt | s

HEZIEE=LIZEH 1 0 1 1 0 6 20
Eg|o e 4 5 3 2 1 3 16
Ele=e|S4t 1 0 1 1 0 6 20
E|2 1 0 1 1 0 3 6
4,4'-E|QH|A 1 10 1 1 0 8 22
mHZlolE 1 50 2 2 0 1 20
o d=2AI2OHEZE 1 0 2 0 2 1 1
I Y EL 1 0 2 2 0 8 22
N-H -t Ef-LIZ &l OfEl 1 1 2 2 0 8 2
HEO|Z| EE|= 4 177 2 1 1 4 14
HE 12 35 2 2 0 5 18
S - 8 5,885 2 2 0 4 18
ZEnEdYE 6 0 2 2 0 7 20
Z2HdIeER=0ENHE 82 240 5 3 2 5 18
eyt o2 s 2 0 24 10 15 3 15
EF220|E 6 7 3 2 1 3 21
oy EH 1 0 3 2 1 8 20
ojm 2t T C[SHo| E2E 2R 20| = 1 0 2 2 0 8 20
o= 1 0 1 1 0 8 20
SIAL2 2 2 0f| Et 1 3 1 1 0 4 20
alli(n-BAL2 F QB O] 9 H|) 1 0 2 2 0 1 6
ddaze|E 29 39 2 1 1 4 13
SMMHZEE 174 4170 6 3 2 5 18
MR E 6 342 2 2 0 6 17
SAEA 8 2 Graphite M/ <) 21 809 2 2 0 5 19
sSAEd) 17 623 5 5 0 4 15
EIMLIES 98 581 2 2 0 5 17
32| AEHIZI0|E 10 1 2 1 0 3 16
K| O A A A 4h 1 0 3 3 0 8 25
QIAMLIEE 7 12 1 1 0 6 16
[ 30 2,760 2 2 0 5 15
Aotz s 15 3,810 2 2 0 6 14
AU E 8 203 2 1 0 3 17
A=A 0|~ 13 576 1 1 0 2 15
A 73 1 2 1 0 2 11
OLHALIEE 38 276 2 2 0 5 20
OfHAMLIER 4 10 3 2 2 3 12
AE|OFEI A 28 168 2 2 0 5 14
M 113 2,709 6 4 2 5 17
He|7HA 66 838 4 3 1 5 16
2 e 24 1,822 2 2 0 5 18
Clogd 2218 2528 oH 2 34 12 3 2 2 3 15
1,1'-0| 2 #H| A (4-O]| A A| OLHL| O] EALO| 2 2 & M| Q1) 2 0 2 2 0 2 4
_ El_ _O|l A =27

L S oz 20 2 3 o 2 2 0 6 8
E2|Z2|A|2EO|AA|OtF20|E 32 56 3 2 0 5 17
BN 6 38,375 3 2 0 4 16
OfM| &l &l 9 24 2 2 0 4 20
Of| E 6 19 2 1 0 4 14
of £l 3 64 1 1 0 2 19
W} ™ HILA(LNG) 65 1,244,016 2 1 0 5 19
LIEE 4 5 2 2 0 3 16
O & 23 301 3 3 0 6 19
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2019\ i defzAr (A2 50| T-27]

1. &8 &Y
(1) 90dB(A) O]t

4B AEE = B3-S Z2EX A 2EXS H 2EXSE O
MEE MHZEY 21 21 46 42 5
MIINE M= 76 104 224 86 138
SN % LEHE HEY 85 126 1,284 1,274 10
QIzf S 7| E0hM =X Y 10 10 21 10 10
AL, GE U MRIYHE NEY 5 5 9 9 0
et A EHHE HAEY 16 22 42 40 3
n2 g EAEHE MEY 41 43 191 191 0
Ha% 4=ME =Y 139 199 327 327 0
1% 35 Y 22 29 93 93 0
FE/SHE M= 444 699 2,481 2,295 186
HXEE, AFH, G4, 28 A S4EH H=Y 1 1 3 1 1
olg, E &7 & AMA M= 9 9 9 9 0
71Et 71A H FH H=Y 78 117 186 176 10
HsA R Ey ey MY 144 231 722 591 131
7|Ef 25FH Mz=Y 229 436 5,402 5,374 28
7 MY 7 7 15 15 0
=5t U HIIE M2, dE A 1 1 9 9 0

| 1,327 2,065 11,063 10,542 521
(2) 85dB(A) O|&f ~ 90dB(A) O|TH

AT MEE = 3FF Z2EXF A Z2EXF E 2EXAF O
Mg MHEY 31 81 95 67 28
=282 H=¢d 5 5 23 9 14
HeHE MY 98 102 223 87 136
7t=, 7t 3 A MR 1 1 7 7 0
SN % LEHE HEY 164 233 966 966 0
Hz 30| X JO|ME M= 18 18 45 45 0
oIz S 7| E0hM =X Y 19 27 51 51 0
I, AR U AQHEFE HE=Y 8 8 14 14 0
giet=d A oEtHE MHEY 41 64 165 142 22
182 o ZAENE NEY 108 114 188 160 27
Ha% Z=MHE MY 101 112 229 229 0
1% 25 HNxg 100 146 386 354 33
FESHE HMZ=Y 840 1,195 2,522 2,376 146
MAEE, AFH, 4, 8% U SAUEH HE2Y 20 25 75 62 13
olg, Y &EI7| A AA M= 11 11 21 21 0
H718H MY 14 23 242 139 102
Z|EF 71AH R EH M= 297 419 886 785 101
Aaxt X ELy MEY 164 258 513 415 98
7|Ef 2&EH Mx=Y 313 673 3,732 3,689 42
b M= 12 12 12 12 0
71t ME H=Y 2 2 4 4 0
AHE 7|A R FH 2 7 7 7 7 0
gt A HI7IE M2, dE WEY 1 1 4 4 0

b 2,375 3,537 10,410 9,648 763
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(3) 80dB(A) O|4f ~ 85dB(A) 0|2t
AT AMEE = B3-S Z2EXF A 2EXF E 2EXAE O
MEE NEY 233 532 589 461 127
=58 Mg 5 9 5 5 0
daNdE MY 54 56 131 86 45
7bE, 7Hd 3 A HEY 12 12 54 38 16
=M % LIEME =Y 136 167 440 431 9
"z F0| ¥ BO/HE M= 47 81 103 76 26
oIz S 7| E0hH =X Y 41 72 9 9% 0
AF3A, GE I MRIFYHE NEY 2 2 5 5 0
et A BEHHE MY 112 163 300 258 41
8 gl ERAENE HZEY 410 592 1,536 1,356 180
Ha% 4=ME M= 194 207 480 468 12
1% =25 N 220 301 718 711 6
FHIEBHE HNEY 1,743 2,525 6,059 5,337 722
MAEE, AFH, g4, ¢ % SHUEH M= 107 129 519 357 163
o7, FY FS7|7] R AA M= 26 43 87 87 0
7| M= 82 82 151 132 19
Z|EF 7|1AH R FH M= 1,270 1,767 3,549 3,241 308
Aaxt X ELy HMEY 435 686 1,098 992 106
7|Ef 2&FH MxY 485 821 9,594 9,124 469
7t M= 120 203 317 317 0
7IEt HE M= 70 87 95 87 8
AHE 7|A R FH 2 Y 54 62 375 375 0
FE5t 3 H7|E N, ¥E MY 11 19 51 48 3
Zof 3 A0fYy 24 24 24 24 0
A 5,891 8,642 26,372 24,113 2,260
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20194 HYBHA

EfzAl [H2Y 5Q102F

- =X
[ - T O

(4) AT AHH

EES ALE = DEXs A 22X H | 22X O
=8 MY 2 2 2 0
HMeHE M= 50 69 69 0
olF, o|=EAUMAME H ZIONE HE=H 17 25 25 0
S8 # LHEME MY 21 50 50 0
Qo F0| ¥ ZOME M=xY 12 12 4 8
Qlaf 3 7|=E0iK SX Y 6 6 0 6
2et=d A Bt E MHEY 9 16 16 0
=2 gl EFAERE MY 111 166 166 0
HZ% 228 MEY 62 108 108 0
1 =25 HEY 14 49 49 0
FEMEHE NEZY 701 1,011 1,011 0
HXEE, 47H, 4, 89 % S4YH H=Y 11 11 0 11
o, YU Fat|7] A AA MELY 41 46 46 0
7|2 M= 152 152 152 0
7|EF 7|AH H EH M= 958 1,336 1,336 0
HsSA R Ey gy MEY 59 84 84 0
7|Et 25EH H=Y 17 17 17 0
) N [ 95 129 129 0
7/EF HE MZEY 135 166 166 0
MUE T|AH R FH| =2 23 23 23 0
gzl A oA, 2l ® 7| e MH|AY 9 9 9 0

Al 2,504 3,486 3,460 26
(5) S22 0|83 ALY

AE AR & TE2X A 22X H | 22X O
ARE XY 18 18 18 0
HAFHE MY 47 58 58 0
o|F, o|EAUMAM2 H ZIONE M= 13 13 13 0
b5, 7t A A HEY 105 166 158 8
X € HEHE NEY 184 1,334 1,329 5
4o ZTo| ¥ ZOME M=x=Y 17 23 23 0
el 3 7|S0iK SXMY 48 48 48 0
I, A U MRHEFE HE=Y 3 3 3 0
ItetEd A e E HEY 33 45 45 0
ol2g 2F % UYE HNxY 9 9 9 0
g g EAEKHE MY 631 911 876 34
HZ% d=ME MY 808 1,397 1,355 42
11X =25 Hx=Y 483 831 815 16
FEHSHE ME=Y 7,497 13,315 12,953 362
HXEE, AFH, G4, 28 A S4UFEH M= 452 592 577 15
o7, Y &AETI|7| U AA M= 1,866 3,462 2,835 627
7|2 M= 643 912 894 19
7|EF 7|AH X EH M= 8,406 13,850 13,780 70
ArsA W EgYe MEY 996 1,836 1,810 27
7|Ef 2&EH MY 1,013 7,521 7,086 435
7 M= 543 883 856 27
71t HE H=Y 818 1,129 1,093 36
A8 TAH W EH 2 403 609 609 0
sPegoiy 1 1 1 0
2ot R HY|IE ME|, ¥E HdY 14 15 15 0
Hdd 40 125 125 0
Cof 3 A0fg 29 43 43 0
HMEZ, otgt 3 7| MHAY 10 21 21 0
gzl A oA, 2| * 7|E el MH[AY 57 116 116 0

HA| 25,189 49,286 47,565 1,722
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(6) YTE 2%

4B ALE 22X A Z2EXNSE E Z2EXSE O
MRINE M= 30 45 45 0
7ts, 7t 3 A HEY 70 187 187 0
=M % LEME M= 177 237 237 0
"z F0| ¥ BO/ME M= 21 33 33 0
QItf S 7| E0hM =X Y 25 25 19 6
It A SEHHE HEY 29 45 45 0
2 g EtAENE MEY 199 308 302 6
Ha% 4=2HE =Y 71 103 103 0
11X =25 N 29 64 64 0
FE/SHE M= 1,652 2,658 2,622 36
TARE, dFH, G, 2 & S4UEH MY 246 435 339 95
o, Y &7 A AA Mz 360 419 379 40
H7|1EH| =Y 1,497 2,882 2,656 226
7IEF 71A A FH| M= 3,706 6,171 6,093 79
Aaxt X ELy MEY 475 1,142 984 158
7|Ef 2&EH MY 368 1,289 1,289 0
7t M= 496 959 954 5
7B HE MEY 365 589 575 14
A 7IA X FH =2 443 898 888 10
T2t R HY|IE N2, ¥E A 24 37 37 0
H4y 58 210 210 0
Cof 3 A0HY 4 4 4 0
FEEANY 1 1 1 0
3| W BN, 2l 2 7|EF 7HQI MH[AY 127 212 212 0

HH| 10,474 18,950 18,275 675
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3. 27 - B gMEA
(1) E4 - 28 - 24 & 27

EES AR =+ TEXE A 22X H | 22X O
HMEHNE M= 10 10 10 0
Qo F0| ¥ FOME M=xY 8 8 8 0
el 3 7SO0 SXMY 10 10 10 0
I, A U MRHEFHE HE=Y 3 9 9 0
2etEd A M E MHEY 105 179 174 5
olgg 23 ¥ 9YE N=¢ 10 10 9 2
ng g EAENE MEY 47 97 96 1
Has 2428 NEY 1,757 3,899 3,834 65
1% =25 HEY 7 7 7 0
FESHE MEY 27 32 32 0
o, MU Fat|7] A AA HELY 1,319 2,716 2,105 610
7Bt 71A X FH H=Y 128 375 375 0
AAsA W Eyy MEY 8 8 8 0
7 M= 26 34 34 0
71t HE H=Y 27 54 40 14
AYE 7IAH X EH =2 4 4 4 0
2ot R HY|IE M|, ¥E HdY 10 30 20 10
o 3 OA0HY 16 20 20 0

HH| 3,523 7,501 6,795 706
(2 QO E& F&o| Q- F5 - gt 27

kS AT = DEX A 22X H | 22X O
AEE MY 21 41 41 0
22 M= 5 5 5 0
HAFHE M= 203 299 299 0
o|F, o|EAUMAME H ZIONE M= 21 30 13 17
b, 7tet A A HEY 97 182 174 8
X € HEHE M= 120 723 364 360
Hz 30| X BO|ME M= 52 58 58 0
el 3 7|S0iK SXM Y 26 31 25 6
I, A U MREFE HE=Y 10 12 12 0
et A SEHHE HEY 77 101 99 1
olgg 23 ¥ 9UE = 12 12 10 2
g 9 EAEKHE MY 806 1,195 1,163 32
Ha% S=8HE MY 280 542 508 35
11X =25 N 907 1,615 1,559 56
FESHE MY 15,669 26,986 26,450 536
HXEE, AFH, G4, 28 A S4UFEH M= 663 946 890 57
o7, Y &7 R AA H=E=H 2,387 4362 3,512 850
7|2 M= 1,544 2,354 2,298 56
7|EF 7|AH X EH M= 13,758 22,470 22,363 106
Aaxt X ELy] HEY 1,655 2,893 2,805 88
7|Ef 2&EH MxY 1,331 8,562 8,120 442
7 M= 648 979 957 22
71t HE H=Y 1,614 2,148 2,117 30
MEE 7AW FH =2 Y 772 1,453 1,389 64
sPegoiy 1 1 1 0
2ot R HY|IE NE|, ¥E HdY 15 17 17 0
a4 32 64 64 0
cof 3 A0fY 78 105 105 0
MEZ, ottt 3 7| MHAY 10 21 21 0
AAIE 22|, AFRAIR S A ME[AY 3 5 5 0
ez 3 BN, =2 H 7B JHQl MH[AY 78 139 139 0

HH| 42,893 78,351 75,584 2,768
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20191 2AsrA e zAr [A| 2Y 5Q10|TH-24]

(10) EHYEfe &5 AA3He &7

EES ALE = DEXs A 22X H | 22X O
st Y StEtHE HEY 8 14 14 0
n2 o EAEHE MEY 17 17 17 0
1% 24 HE=Y 7 7 7 0
FEISHE M= 2 6 6 0
o7, Y F5|7] R AA H=H 11 11 1 0
71Et & H=¢Y 1 2 2 0

| 46 57 57 0
(11) LH2H2 0|8 ZteiojMol £7

EES ANEE TEXE A 22X H | 22X O
2etEd A BEHE HEY 4 10 10 0
Has 428 NxY 12 24 24 0
FESHE M= 1 2 1 1
olz, T &7 A AA M=Y 5 5 5 0
7|Ef 2&TH| MZ=Y 21 106 106 0
AdY 1 3 3 0

Al 45 151 150 1
(12) 8% 8% &0l 8HE

kS ArE = DEX A 22X H | 22X O
AMEE NZEY 157 173 173 0
HeHE Mx=g 79 690 690 0
7hE, 7He 3 AME fEY 1 1 1 0
=1 H HEHE =Y 136 176 176 0
Hx 30| X ZO|ME MEY 27 36 27 9
oIy X 7IE0iN =X Y 17 17 17 0
AJA HE Y MAHHE MZY 9 9 9 0
2etEd A BEHE HEY 88 101 97 5
ogg 23 ¥ 9U4E N=¢ 1 1 1 0
2 3 EAEANE ME=Y 444 571 559 12
Ha% 228 NEY 262 369 369 0
1% 2% H=d 307 607 590 16
FEISHE M= 10,524 19,952 19,440 512
HXEE, 47H, E4, 89 % S4TH H=Y 286 375 340 35
olE, EE 77| & AMA MEY 546 689 612 76
HM7|1%H| =g 1,210 1,828 1,550 278
Z|EF Z1AH R FH M= 9,413 14,530 14,337 194
HsA R Ey ey MEY 1,044 2,421 2,175 247
7|t 2&EH MY 1,167 12,268 11,414 855
7+ N 431 748 730 18
7|Ef HE MZEY 856 1,083 1,078 5
MEE 71AH A FH =2Y 956 1,481 1,463 19
=2t R HY|IE M2, ¥E HdY 19 43 43 0
Aadd 48 110 110 0
o 2 OA0HY 37 37 37 0
HEEAMY 15 41 41 0
25 9 9 9 0
AtHAIE 2], AFEXI S QT AMHAY 11 14 14 0
gzl A oA, 2| * 7| el MH[AY 79 116 116 0

HH| 28,177 58,498 56,217 2,281
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EfzAp [H2Y 520|Z-27

]

(13) 252 AR RS 3527

4B ALE 22X A Z2EXNSE E Z2EXSE O
1% 35 HNEY 16 55 55 0
FEHIEBHE HNEY 58 95 95 0
olg, MY &7|7] ¥ AlA NEY 12 24 24 0
7IEL 71A & FH| MZEY 35 35 35 0
7|Et 2SFH| HZE=Y 21 85 85 0

HA| 142 294 294 0
(14) =7

AT AT TE2Xs A Z2EXe § Z2EAE O
Mg MHEY 14 14 14 0
HRNE M= 15 15 15 0
olF, o|EAUMAME X ZIONE HE=H 22 22 22 0
=X % LEHE MEY 2,660 5,627 5,388 239
"o F0| ¥ FOoME MxY 28 51 42 9
olaf H 7|Z04N =X 31 44 44 0
et A oEHHE HEY 62 105 98 7
n2 o EAEHE ME2Y 51 89 89 0
Has =88 M= 57 103 103 0
11X =25 N 34 45 45 0
FEH7ISHE HEY 230 407 388 20
MAEE, AFH, S4, 3% U SMUEH HE2Y 16 16 15 1
olF, M Fot77] A AA MZEY 13 25 25 0
H7|FH Mz 14 20 20 0
71Et 71A4 H FH H=Y 521 782 770 12
Aaxt X ELy MHEY 74 95 87 8
7|Ef 2&5FH MY 155 265 265
7t M= 3,782 8,147 7,780 366
71Et HE M= 528 699 637 62
SYULHY 1 1 1 0
FE5t 3 H7|E N2, ¥E MEY 23 44 34 10
Had 22 44 44 0
ZOf 3 A0y 22 56 56 0
ME, ote A 7l MHAY 10 21 21 0

A 8,386 16,737 16,002 735
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2019\ i defzAr (A2 50| T-27]

(15) HET

4B ALE TE2Xs A Z2ERe § . 2EXANSF O
HEHE ®M= 190 420 244 176
ol=, EI%O—*.'HIM 2l ¥ 2OHE MEY 126 686 197 489

A 315 1,106 441 665
(16) Y& F& A7 27

by ALE TE2Xs A Z2EXs § . Z2EXNE O
Mg MHEY 16 157 31 126
HeHE M=y 228 604 582 22
7=, 7t 3 A MY 11 11 1 0
=X % LUHEAHE Mz 10 21 21 0
olaf  7|Z04N =X 69 158 122 36
AIA, G I MRIFHE NEY 3 6 6 0
et A EHHE MY 164 286 283 3
n2 g EAENHE MEY 113 170 143 27
Ha% 4=ME =Y 8 31 31 0
FE/HSHE M= 185 424 415 8
Aaxt X ELy MHEY 23 43 43 0
7|Ef 2&FH Mx=Y 19 575 268 307
7t M= 11 22 22 0
71Et & H=Y 44 44 43 1
cof S OADHY 1 3 3 0
3| W BN, 2l 2 7|EF 7HQI MH[AY 8 8 8 0

HH| 912 2,562 2,032 530
(17) 3271

AT A = 22X A 22X " Z2EXNE O
MEE HEY 2,252 5,422 3,717 1,706
28 Mz 75 150 141 9
Hz 30| X ZOo|ME MEY 15 15 15 0
stetE2d 9 sEthE MEY 31 58 53 5
7t M= 4 12 12 0
SZof U AOHY 10 10 0 10

A 2,388 5,668 3,938 1,730
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BjzAp [H2Y 520[E-27]

(7) =2 REl2 RFE|MES 49d5t= A

A4S AR = D2 A Z2EXFE H O OEZEX
1% 35 HNEY 8 8 8 0
™7|EH M= 19 19 19 0

HH| 27 27 27 0
(8) 120 &S €0 EN2|ots Ha

A4S AR = D2 A Z2EXFE H O OEZEX
Mg MHEY 10 10 10 0
et A BEHHE HEY 10 13 12 1
8 gl EEAENE MZEY 70 113 107 6
FESHE M= 10 29 29 0
Z|EF Z1AH R FH M= 1 3 3 0
7|Ef 25FH Mx=Y 4 4 4 0
71Et HE Mz 15 15 15 0

A 120 188 181 7
9) EEE M8 =2 82 AXZA7|= EAa

AT AT = TEAS A ZEXF H O OEZEX
MEE HEY 918 1,936 1,342 594
2B §=d 8 8 8 0
HeNE MY 320 521 476 45
o|F, oEAUMAME A ZIOXE HE=Y 35 109 76 33
7t=, 7t 3 A HEY 71 116 83 32
X % LUHEAHE Mz 136 182 182 0
Hx B0 ¥ ZOoHE M=x=Y 46 70 58 12
olaf  7|Z04N =X 144 182 151 32
AIA, GE I MRFHE HEY 2 2 2 0
stetE2d A et E MY 142 211 208 2
olz8 =& % 2UFE HxY 11 14 11 4
ng 3 EAENE MY 512 744 737 7
Ha% 28 MY 215 314 308 6
1% 2% H=d 33 50 49 1
FEHSHE MEY 1,160 1,654 1,561 93
MAEE, dFH, G, 39 % S4UEH Mz 125 138 115 23
o, Y &SI7| A AA M= 68 162 115 48
7|2 ®M=Y 178 197 178 19
Z1EF 1A H EH M= 63 138 116 22
A R Ey gy MY 50 61 59 2
2t M= 11 11 11 0
7Et HE M=Y 103 130 130 0
S5t U HIE M2, fE A 1 1 1 0
gz oA, =2 % 7|Et JHQl MH[AHY 19 29 29 0

HH| 4,370 6,979 6,004 975
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20191 AP UEf AL [H2Y 50| T-27]
6. 7|4 - 7|+ A AH|3E
(1) Z3|2-22 53 32 of4
EES ALY B NE
HeHE Mx=g 36 84 0
b=, 7He oA X1|£% 44 62 0
X 9 HEMHE M= 106 288 0
4o ol Y %OIHI% I1|$%* 38 46 0
el 3 7|Z0i8 SX Y 61 112 0
et A SEHHE HEY 31 109 0
2 gl EetAENE 1I§% 209 668 0
H=Z% % I1Ia M= 14 73 0
1 =25 M= 66 138 0
1¢7P+X1la I1I 4,090 14,828 0
AR E, HAFH, %%;, 2% ol %MQHI X 158 779 0
9|7, ’5;“' IF647|7| 2 OAIA H=E 50 92 0
M7\ &H| H= 300 863 0
7|EF Z1AH R 7c*HI = 1,517 4,611 25
INE=PN ] EEHO'H X1|7<°* 660 3,167 10
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7/EF HE MZEY 597 1,076 0
ZOf 9 Aoi 23 92 0
HEEAMY 8 30 0
ME, et 9 7|8 AMH[AY 11 21 0

| 5,691 10,783 10
(25) SE7|A -4t

S AR = HRd NEEES
HMeXE Mx=g 22 22 0
7bE, 7tk 3 M fEY 11 11 0
S8 H LEME MY 47 76 0
"o F0| U FOME M= 49 84 0
el 3 7|E0iK SXMY 21 21 0
AJA QE 9 MQHKE MY 1 3 0
et A SEHHE HEY 77 122 1
ng 3 EAENE XY 752 1,107 0
Has S=NHE MY 127 312 0
1% =25 H=Y 239 554 0
FEISHE M= 8,471 24,879 0
HMXEE, AFH, G4, 28 A S4UFEH M= 391 2,281 0
o7, Y &7 R AA H=H 703 1,508 0
HM7|%H M= 621 1,683 0
7|EF 7|AH N OEH M= 15,168 32,987 94
skt 2 Ey MEY 1,631 7,249 0
7|t 2&EH MY 525 985 7
) S [ 388 455 0
71t HE H=Y 528 1,000 0
AEE 7IAH X FH =2 484 610 0
ZOf 9 ADiY 14 14 0
gzl A oA, 2| % 7| el MH[AY 11 11 0

Al 30,281 75,973 102
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(26) SE7|AH-EE 7]

ZUE A (A2 5U0|2-=

C

EES AL = B NEEES
=8 MY 5 5 0
HMEMNE M= 134 144 0
olF, o|=EAUMAME H ZIONE HE=H 25 25 0
b=, 7tg 2 AEh HE Y 175 203 0
X HEHE MEY 391 658 0
4o 0| Y FOME M= 27 33 0
el 3 7|Z0iKH SX Y 20 20 0
AIA ME Y MAHFE M= 1 4 0
It A EHHE HAEY 121 149 0
g 9 EAEHE MY 1,035 1,789 1
HZ% d=XME NEY 289 362 0
11X =25 N 372 911 0
FESHE MEY 9,986 17,728 13
HXEE, AFH, 4, 28 A S4UFEH M= 837 1,311 0
o7, Y F5|7] R AA H=H 870 1,229 0
7|2 M= 1,930 2,972 0
7|EF 7|AH X EH M= 13,554 24,585 68
skt & Ey MEY 1,185 2,531 0
7|Ef 2&EH MY 568 890 7
7 M= 1,112 1,915 0
71t HE H=Y 883 1,332 0
AE 7IA X FH =2 595 1,035 0
2ot W HIIE M|, ¥E WYY 22 22 0
A 63 142 0
Zof 3 ADfY 64 98 0
ME, et U 7|& MHAY 10 10 0
AFAIE 2E], AFXE S A ME|AY 9 17 0
S3AE, T A AR EY WY 1 1 0
@3 9 oA, 2l % 7| 9 AH|AY 19 40 0

HH| 34,307 60,163 90
(27) X7\ -BA|

=ES AR = HRE NECES
HeHE Mx=g 10 20 0
b=, 7 3 M M= 4 7 0
=i ®H HEHE =Y 21 21 0
"o F0| U FOME M= 15 15 0
IetEE U S E MEY 6 6 0
8 3 EAEKNE MY 53 58 0
HZ% 2428 MEY 30 77 0
1% 245 =Y 3 3 0
FE57tSHE NEY 706 897 0
AR E, dFH, @, 2% & S4UYH MY 44 181 0
o7, MY &7 R AA M= 61 62 0
M7\ &H ME=Y 82 100 0
Z|EF 71AH R EH M= 1,017 1,492 0
HsA R Eygl MEY 149 189 0
7|Ef 25TH MY 21 106 0
7t M= 33 33 0
7B HE MEY 66 89 0
MYE TIAH W EH 2 4 4 0
A 21 21 0

HH| 2,347 3,383 0
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ZUE A (A2 5U0|2-=

C

(30) QA7 EE= AHOp|

EE NEERES S N
AIRE MY 36 128 0
HdaXE M= 28 28 0
o|&, o5UMAEl W ZUHE H=Y 13 13 0
7HE, 7t 3 A HEY 168 333 0
SN ¥ LHEME HEY 137 168 0
H=, 30| ¥ BOIHE H=¢ 1 11 0
QM 3 7IE0iKM SXY 38 51 0
FAA, HEH Gl MQHHE HEY 8 8 0
IetEE U FEHE HEY 49 59 0
o228 23 Y 9UE H=¢ 16 23 0
12 3 ZEgAENE HZ=Y 788 1,074 0
HZ% A2HME MY 825 1,983 0
1% 25 HE=g 411 671 0
FEHEIENE ME=Y 6,035 13,145 0
HAEE, AFH, g4, 3 % SMUEH HE2Y 498 954 0
o, Y &7 & AA M= 1,782 3,484 0
M7\ EH M= 619 924 0
71Et 7|A A FH| MZEHY 7,367 14,275 35
sk W ELUL MEY 940 2,208 0
7|Et 25EH H=Y 396 2,043 0
7t M= 470 911 0
71EF HE NZY 848 1,369 0
MAE T|AH o EH 2| Y 317 358 0
SHAA N 1 1 0
2 8 HY7|IE N2, fE MY 1 13 0
H4 51 187 0
Zof 3 A0 28 41 0
a2 3 EHA|, 2 H 7|EF JHel MH[AY 64 88 0

HH| 21,954 44,552 35
(31) =2&7|

EES AR & HRsd NE
ARE MY 207 260 0
22 M= 9 56 0
HEAHE M= 136 549 0
7bE, 7he 3 AME fEY 46 64 0
Sx %€ HEAHE ME=Y 66 79 0
Hx 30| Y ZO|ME M= 35 67 0
Qlaf % 7|E0iH EX Y 64 64 0
FAA, HEH Gl MQHHE HE=Y 51 144 0
seE2E U FENHE N 1,851 4,006 3
olg8 & W oUYE M= 22 26 0
ng g EAENE MEY 1,638 2,688 1
Hax d2ME MY 902 1,366 0
1% 25 HE=Y 70 166 0
SHIESHE M2 176 514 0
HXAEE, 47H, E4, 2% % S4TH H=Y 56 115 0
o7, MY FEI|7] U AA M= 79 87 0
7| M= 58 78 0
IEF 71A4 H FH MZE=Y 132 144 0
S W EY Yy MEY 31 44 0
7|et 2ESEH M= 20 78 0
7 M= 16 16 0
71t HE H=¢ 87 102 0
5t 8 H7|2 N2, ¥ MY 5 7 0
HEY 1 1 0
o o A0HY 6 6 0
HME, otet % 7| MHAY 1 3 0
AFRIAIE e, AR e B Qo) ME[AY 1 2 0

HA| 5,766 10,732 4

204



(32) mMfi”7| = 2447

Busz [(MZY 520/-2%

Z‘l]

EES AL = B NEEES
AREE MZEY 105 169 0
22 M=z 17 22 0
HeHE Mx=g 5 5 0
O|E, o|EAdMAME H ZINE HE=H 10 10 0
7=, 7t 3o AE MY 7 11 0
SN ¥ LHEME HEY 252 416 0
Hx 30| ¥ ZO|ME MZEH 15 15 0
I W 7|SO0iN SX Y 12 12 0
AIA ME Y MAYFE M= 10 10 0
stetE2d U StEtHE HEY 833 1,409 0
o2E =3 % 9%UE HN=Y 10 14 0
ng g EAENE MEY 2,089 5,841 0
Has d=HE MY 413 687 0
1% =25 Mg 67 85 0
FE57tSHE NEY 125 171 0
MXEE, AFH, G4, 28 4 S4FEH M= 14 15 0
o7, MY Fa7|7] % AA M= 50 201 0
©2|1&H M= 81 245 0
7|EF 714 R EH M= 363 523 8
sk S EYy MEY 28 74 0
7|t 2&EH MY 17 17 0
7 MY 14 14 0
7B HE MEY 38 40 0
AMAE TAH R | 2| Y 7 14 0
sgUAA S 1 1 0
ot W HIIE NE|, ¥E WY 138 249 0
Hndy 5 5 0
Zof 3 A0fY 21 21 0

Al 4747 10,294 8
(33) ABIHS87IA-AB 7|

SES AFSIRE 2= HRLE NESES
AEE MY 3,040 5,183 0
S8 MY 116 127 0
O|&, olEAUMAME X ZIONE H=H 6 11 0
=i ®H HEHE =Y 23 23 0
st U SENE NEY 15 30 0
olgg 23 Y 9U4E N=¢ 23 55 0
HZ% M2 MY 4 4 0
7|EF 7AW EH M= 27 35 8
sk W EYLY MEY 6 6 0
7t MY 11 25 0
71t HE M= 14 14 0
SYPYLAY 9 9 0
o A 20 20 0
=4t 3 SAFEY 5 5 0

Al 3,319 5,547 8
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e
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22
587
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20194 2istAME 2AL [A|RY 50| 2F-24]
(37) 1A SXSEI|A-a2 =714
EES NESIES B NESE
MEE NZY 14 14 0
HRMHE M= 12 14 0
7t5, 7t oA Xﬂia 1 1 0
SN X LEXNE ME 2,154 3,675 0
Qlaf % 7| =S 0fH| EHIO* 7 7 0
et A SN E N 39 44 0
ng g %EHE'HI“ Iﬂi% 360 478 0
HZ% d=ME M= 233 377 12
" =4 MEY 15 22 0
1¢7P+II% Hz= 227 517 0
HAEE %H %“'*o*, S U EMHH HE=HY 20 20 0
9|8, ’8”' 87|17 % AA MEY 14 14 0
713 M= 75 75 0
71Et 7|1A W FH H=Y 216 304 0
sk S EYey MEY 126 200 0
7|Et SS’SHI M= 150 227 0
7 M= 3,709 5,706 0
7|Et ME X1I£% 573 757 0
_'-|:010I010.|01 6 6 0
Fak=Rs 27 51 0
ZOf 3 A0y 32 52 0
HMEZ, otet U 7|s MHAY 10 10 0
HH| 8,021 12,571 12
(38) ™A =ZXH7tSE7| A -7| A CHIH
e AFRARE 2 Bo4a S ECE
SN H LHEHE HEY 731 1,021 0
st 9 SiEtE MY 17 17 0
ng g EgAENE MEY 78 78 0
HZ% =M MY 14 14 0
1% 25 §Z=Y 7 21 0
FEMEHME N 24 24 0
HXAEE, 47H, E4, 29 % S4TH H=Y 1 1 0
71Et 71A X HH H=Y 161 209 0
S H EY Yy MEY 7 7 0
7|Et C>A’“HI M= 117 138 0
7+ "= 883 1,155 0
71t HE M= 203 241 0
SHUA Y 6 6 0
HEY 38 38 0
ZOf 3 A0y 11 1 0
ME, 18 2 7= MHAY 10 10 0
HA| 2,309 2,993 0
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20194 AP UE = [HRY 50| T-27

41) 18 SIS 7| A-EH 77| A

=S INSERSEES B SESSE
=i ®H HEHE =Y 264 316 0
Ha% =S MY 19 45 0
FEIEHE HNEY 10 10 0
™7 ZH MY 2 2 0
71Et 7|A % FH| MZEY 37 37 0
skt X EYLY MEY 3 3 0
7|t 2EFYH HNEY 21 21 0
7+ N 380 433 0
71t HE H=Y 43 44 0
HE Y 5 5 0
ZOf 3 Aoj 11 11 0

Al 793 925 0
(42) AHEXHHG 2| ZE

AE AR BRE NEES
2 gl EAENE MZEY 19 37 0
FEISHE MY 36 70 0
o, YU Jat|7] A AA MEHY 19 19 0
M7\ EH M=g 19 19 0
HsA R Ey gy MEY 168 422 0
7|t 2ETYH HNEY 6 6 0
71t ME H=¢Y 5 5 0
AMAE T|AH R FH 2| Y 63 74 0
FEot U H7|E M|, |E WA 6 13 0
gs| 9 ChN|, 2| 9 7|Et 74Ol MH[A Y 81 161 0

Al 422 825 0
(44) LBET|-HALH 02 MPakg/cm?) 0|42l st FHFHZE7|

AT A HeE NEE
AEE XY 255 415 0
MIINE M= 51 103 0
SN LHEME HE2Y 35 35 0
AIA E Y MAHFE MZY 17 49 0
et A AN E NE=Y 143 628 0
olz8 =& % YE MY 4 7 0
ng 3 EAENE MEY 56 118 0
Ha% S=HE MY 22 29 0
1% 2% NEY 33 59 0
FEISHE M= 218 374 22
MAEE, AFEH, ¢, 8% % S4TH M= 5 28 0
oz, §Y &AEI7| U AA M= 20 20 0
7|EfF 7|AH R EH M= 158 233 10
Aaxt X ELy MEY 46 97 0
7|Et 2&EH MY 14 41 0
7t M= 11 11 0
71t ME H=Y 21 21 0
MYE TIAH W EH 2 7 7 0
A 20 20 0
o 2 A0y 1 77 0
ME, 5 A 7|8 MH[AY 1 1 0

A 1,136 2,373 32
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20191 2AsrA e zAr [A| 2Y 5Q10|TH-24]

46) 7|A&H 2lE)

EES AL = B NEEES
AMEE HEY 14 14 0
28 =4 16 25 0
olF, o|=EAUMAME H ZIONE HE=H 9 9 0
X € HEHE M= 666 943 0
M W 7IZE04N SH Y 12 12 0
2etEd A M E HEY 28 32 0
n2 g SAEHE MEY 51 74 0
HZ% 28 M= 40 82 0
1% 24 HEY 29 51 0
FEIHE N 319 386 0
HMXEE, AFH, 4, 28 U S4UFEH M= 14 14 0
olF, Y &AEI|7| A AA M= 9 9 0
™71 &y M= 21 21 0
71Et 7|A R FH| MZEY 334 422 0
ArsA W EgYe MEY 23 23 0
7|Et 25EH H=Y 127 139 0
) N [ 462 705 0
71t HE H=Y 189 241 0
AAE 7|AH R FH 2| Y 9 9 0
sYAA A 1 1 0
a4y 23 44 0
COf 9 ADiY 1 1 0

| 2,396 3,257 0
(47) o =7

S A HRd NEEES
AMEE NMZY 174 193 0
=8 =Y 9 9 0
HMeME M= 11 11 0
=X H HEHE M= 100 100 0
4o F0| Y FO/ME M= 43 52 0
atetEd A e E HEY 70 91 0
ol2g 23 % UYE HEY 3 3 0
n2 9 EFAEME MZY 91 91 0
Has 428 NEY 59 84 0
1% 25 H= 10 10 0
FEISHE M= 157 157 0
HMXEE, AFH, G4, 28 A S4UFEH M= 6 10 0
o7, Y A&7 W AA M= 11 11 0
HM7|%H M= 29 29 0
7|EF 7|AH N OEH M= 101 136 0
ArsA W EgYe MEY 8 8 0
7t M= 16 16 0
71t HE H=¢ 42 42 0
AYE 7AW EH 2 11 14 0
SYPUAAA Y 25 61 0
He 27 27 0

HH| 1,004 1,156 0
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waue 2 [HZ2Y 5A0[2-2
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1% 35 =Y 7 28 0
FEHSHE NEY 300 1,196 0
olg, MY &7|7] ¥ AlA NEY 8 17 0
H7|EH M= 1 6 0
7IEF 71A & FH| MZE=Y 52 113 0
skt 8 ERYy MEY 13 76 0

HH| 381 1,435 0
(63) M7

2B A BER SESGES
1% 25 M= 85 226 0
FHISHE Y 201 1,089 0
7IEF 714 % FHH| MZE=Y 45 120 0
7Bt HE Mz 11 11 0

HH 342 1,447 0
(64) LA7|(FH)

A5 AL BERsH S ESGES
stetE2d 9 St E MEY 2 3 0
14 22 Hx=Y 44 63 0
FEISHE MZ=Y 172 372 0
olg, MY &E7|7] W AlA NZEY 8 271 0
7IEF Z1A X EHH M= 6 6 0
XA H EgYe HMEY 13 38 0
7B HE MEY 11 11 0

A 258 765 0
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(65) ZE7|A-TSZEZ7I

Busz [(MZY 520/-2%

Z‘l]

EES AL = B NEEES
AREE MZEY 3,983 5,396 0
28 =4 55 88 0
HeHE Mx=g 27 95 0
7, 7heh 3 AMEE fEY 12 12 0
ZZ 30| ¥ ZO/HE M=Y 56 71 0
Qlaf 3 7|=E0iK SX Y 38 38 0
2et=d A Bt E MHEY 92 118 0
ol2g 2F % UYE HNxY 39 90 0
n2 gl EAERE MY 80 109 0
Has 4208 NEY 8 8 0
FEMEHE NEZY 25 27 0
AR E, AFH, G, S o S4UYH M= 92 128 0
olF, Y &AEI|7| A AA M= 37 56 0
M7\ EH M=¢ 25 31 0
7\t 1A EH M= 132 132 0
HsSA R Ey gy MEY 39 52 0
) N [ 5 5 0
71t HE H=Y 57 58 0
SYPUAA Y 23 23 0
o 3 OA0HY 45 47 0
e 9l SAHA 16 16 0

Al 4,885 6,599 0
(66) E&7|A- 2T

EES AL = B NESES
MEE MZY 1,230 1,487 0
28 j=d 39 43 0
HdFHE MY 105 105 0
olg, o|EAMAME X ZIOHE HMEH 13 13 0
=X H HEHE M= 20 31 0
Hx 30| A FO|ME MZEH 146 157 0
I W 7|ZSO0iN SH Y 80 111 0
AJA ME 9 MQHKE M= 5 8 0
st Y SEtHE HZEY 199 243 0
olgg =23 Y 9U4E N=¢ 13 13 0
ng g EAENE MEY 230 249 0
Ha% =S MY 72 72 0
1% 25 HEY 10 10 0
FEISHE M= 152 181 0
AR E, AFH, @, 2 U S4UYH M= 57 185 0
o, FY &7 R AA M= 30 33 0
M7\ EH M=¢ 22 22 0
7|Ef 1A N EH M= 82 82 0
skt X EYLY MEY 51 64 0
7|Ef 2&5TH| MY 1 1 0
7 MY 51 51 0
71t ME M= 27 31 0
cof S A 8 8 0
e 9l SAFA 10 10 0
MEZ, otgt 3 7| MHAY 6 6 0

| 2,660 3,216 0
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(77) AZ=4H|-HE Z|C{ALEZO| 50 kg/AlZt Of4, MEQ E2 HAAHHH 50 kw/A|ZH O[Tt

EES AL = B NEEES
AREE MZEY 170 369 0
22 M=z 21 26 0
HeHE Mx=g 247 588 0
olg, o|gAMAME| X ZOHE HEH 9 9 0
7, 7he 3 MEE fEY 86 114 0
SN ¥ LHEME HEY 45 49 0
4o 0| U FOME M= 51 51 0
I W 7|SO0iN SX Y 163 363 0
IetEd A B E HEY 154 212 0
olgg =23 Y 9U4E = 24 32 0
g 3 EAEKNE MY 498 1,081 0
Ha% d=HE MY 165 223 0
1% 245 H=Y 18 20 0
FEISHE M= 1,137 1,609 0
MAEE, AdFEH, o, 82 % S4UEH M= 159 253 0
olF, FY FS|7] R AA M= 64 197 0
M7\ &H M= 187 244 0
7\Ef 1A N EH M= 52 132 0
HsA R Eyy MEY 47 100 0
7|Et 2EEH MY 6 10 0
7t M= 11 11 0
71Et ME H=¢Y 109 147 0
2ot W HIIE M|, ¥E WYY 8 8 0
gz 9 oA, 2] I 7|EF 7HQl MH[AY 20 20 0
HH| 3,451 5,870 0

(78) BAHI7| ZX|(O|SA HQ)-QHAAL Chat HH|(RSISE 495)-HHEZ 60m/minOl4

EES AR = HQpE N EGES
AMEE MZY 45 117 0
=28 XY 5 5 0
HeHE =g 25 25 0
olF, o|EAUMAME X ZIONE HE=H 13 13 0
b=, 7t 3 AEE M= Y 34 42 0
X € HEHE MEY 12 32 0
olaf H 7|E0H SN Y 79 104 0
AJA HE 9 MOHKE MY 4 4 0
2etEd A BEHE HEY 74 9 0
ng g EAENE MEY 80 130 0
Has 428 NEY 31 91 0
1% 245 H=Y 35 35 0
FEISHE M= 516 3,062 0
HMXEE, AFH, G4, 38 4 S4UFEH M= 93 147 0
o, Y &at7|7] & AA MEH 67 183 0
7| Mx=Y 93 112 0
71Et 7|A R FH| MZEY 169 244 0
HsA R Eygl MEY 44 65 0
7+ HE=Y 48 53 0
71t ME H=Y 54 67 0
AMAE T|AH R | 2| Y 4 4 0
ot U H7|E M|, |E AN 23 45 0
A 1,547 4,676 0
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(79) =AHEZ| FX|(O|SA] HL)-Qt™MAAL LA HH|[(RHZE 49F)-HISZ 60m’/min0| Tt
EES AL = B NEEES
AREE MZEY 83 146 0
HMeHE M= 7 7 0
olF, o|=EAUMAME H ZIONE HE=H 25 25 0
b=, 7tg 2 AEh HE Y 64 64 0
X HEHE MEY 31 35 0
4o 0| Y FOME M= 19 26 0
el 3 7|Z0iKH SX Y 71 71 0
AIA ME Y MAHFE M= 5 5 0
It A EHHE HAEY 90 106 0
n2 9 EAENE MZY 85 131 0
HZ% d=XME NEY 40 64 0
11X =25 N 50 81 0
FESHE MEY 474 709 0
HXEE, AFH, 4, 28 A S4UFEH M= 190 330 0
o7, Y F5|7] R AA H=H 227 437 0
7|2 M= 217 295 0
7|EF 7|AH X EH M= 241 300 0
Aaxt X ELy] MEY 81 127 0
7|Ef 2&EH MY 28 28 0
7+ MY 98 132 0
71t HE H=Y 62 90 0
st Y HI|E ME|, ¥E HYY 7 14 0
HA| 2,197 3,222 0
(80) FAHH7| HA|(OIEA! HQ)-TRlHLRMST, si7tHREHSE BE L)
-BiZ2F 150m’/minO| A
SES AL = HQpE NEEES
AMEE NMZY 25 56 0
HeHE Mx=g 39 67 0
O|E, o|EAUMAME H ZINE H=H 13 13 0
b=, 7tg 3 AEh HE Y 67 67 0
S ¥ LHEME MHEY 21 21 0
4o 0| Y FOME M=E=Y 6 6 0
I W 7|SO0iN SX Y 53 53 0
AJA QE Y MAHFE M= 2 2 0
et A N E NE=Y 44 58 0
g 3 EAEKHE MY 76 87 0
Ha% =8NS MY 20 87 0
1% 245 H=Y 31 31 0
FE57tSHE NEZY 348 518 0
HMXEE, AFH, G4, 28 A S4UEH M= 98 126 0
o7, MY &7 E AA M= 11 11 0
HM7|1%H| =g 81 81 0
Z|EF 714 R EH M= 163 163 0
Aaxt X ELy MEY 10 19 0
7|Et 2&EH MY 15 19 0
7+ MY 25 45 0
7B HE MEY 75 89 0
2ot W HIIE ME|, ¥E WY 1 1 0
Zof 3 A0 16 31 0
gzl A oA, 2| * 7| el MH[AY 13 23 0
HH| 1,250 1,672 0
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2019\ i defzAr (A2 50| T-27]
1. 28 Y
(1) 90dB(A) O] At
T2 MEE = 3™ 22X A 22X B 22X O
19l 38 45 38 34 4
29l 125 130 204 169 35
39l 187 305 406 310 96
409l 170 243 511 487 24
501 O] 806 1,342 9,904 9,542 361
HH| 1,327 2,065 11,063 10,542 521
(2) 85dB(A) O|& ~ 90dB(A) O|Tt
= MEE = 3™ 2EX A 22X G 22X O
10l 117 149 117 96 21
29l 280 326 415 377 37
39l 477 656 1,014 843 171
409l 413 498 786 696 90
501 Of A 1,087 1,908 8,078 7,635 443
HH| 2,375 3,537 10,410 9,648 763
(3) 80dB(A) O|4f ~ 85dB(A) O|gk
T2 AMEE = 3™ 2EXe A 22X H 22X O
10l 445 629 445 415 30
29l 850 1,059 1,352 1,188 164
39l 1,247 1,715 2,559 2,169 391
40l 929 1,248 2,234 2,034 201
501 O] 2,420 3,991 19,782 18,307 1,475
HH| 5,891 8,642 26,372 24,113 2,260
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Bfzat [l =Y 5200]2F-2=7

o

]

T2 AR = 2R A 2EXNE H O 2EXE o
19l 5 5 5 0
29l 12 24 24 0
39l 7 7 7 0
591 oAt 12 12 12 0
HH| 36 48 48 0
(2) 82 0|&8%t o
T2 AR TEXs A L 22X H L Z2EXE o
19l 22 22 22 0
29l 99 168 146 22
39l 135 299 299 0
49l 140 263 263 0
591 o4t 112 645 645 0
HH| 509 1,397 1,375 22
(3) Mels
T2 AtRE TEXs A L 2EXe H L Z2EXE O
19l 421 421 411 9
29l 295 397 387 10
39l 468 605 605 0
49l 439 661 661 0
501 O| 4 372 652 652 0
HH| 1,994 2,736 2,717 19
4) A%l ZHH
T2 AR = 2R A 2EXNE H O Z2EXE o
19l 327 327 321 6
29l 419 467 467 0
39l 591 815 815 0
49! 516 897 897 0
591 Of A 652 980 960 19
HH| 2,504 3,486 3,460 26

234



BjzAp [H2Y 520[E-27]

o — —
= AR = 22X A 22X " 22X o
10l 3,935 3,935 3,707 228
20! 4,619 6,369 6,172 197
3¢l 4,892 7,613 7,425 188
491 4,630 8,037 7,817 220
521 O]% 7,113 23,332 22,444 889
HH| 25,189 49,286 47,565 1,722
(6) YHE X
e ANEE = ZEAF A 22X 22X o
19l 1,360 1,360 1,290 70
20! 2,022 2,637 2,497 140
3¢9l 2,286 3,570 3,548 22
491 1,833 3,418 3,155 263
501 of & 2,974 7,964 7,785 180
HH| 10,474 18,950 18,275 675
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2019 AAegdeg R [H2Y 5A0|T-2F]
3. 2%l - 5 wWME
(1) EM -2 - ¢4 5 27
T2 AR = 2R A 2EXNE H O 2EXE o
19l 719 719 678 41
29l 652 976 895 81
39l 634 1,362 1,294 68
409l 641 1,553 1,363 190
591 Of&t 827 2,892 2,566 326
HH| 3,523 7,501 6,795 706
() Qotd E& F&o| ¢t F2 - g 2
= AMNEE DEXE A 2EXNFE EH O Z2EXE o
10l 6,987 6,987 6,625 362
20! 8,765 11,589 11,261 328
39l 9,038 14,267 13,992 275
409l 7,085 12,780 12,562 218
591 o4t 11,018 32,729 31,144 1,585
HH| 42,893 78,351 75,584 2,768
(3) 2EAMEo| YF0|F &= MIEIEHE &7
T2 ARE TEXs A L 2EXs 2 Z2EXE
10l 46 46 46 0
29l 130 186 176 10
39l 178 312 306 6
40l 116 282 272 10
591 o4t 315 1,586 1,536 50
HA| 786 2,412 2,337 76
(4) A|ME, AT, 22ato] A 2T
= AtRAE = DE2XE A 2EXNE H O Z2EXE o
19l 141 141 141 0
29l 195 333 299 34
39l 133 251 251 0
49l 206 465 453 12
501 o] 265 803 796 7
HH| 941 1,993 1,941 52
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2019\ ZrdstzAAE zAr [A|2Y 5Q10| -]
(5) EtARZ e EIAXNE 27
T2 AMNEE DE2XE A 22N H O Z2EXNE o
19l 14 14 14 0
29l 21 33 30 3
39l 81 212 212 0
49l 64 161 156 4
501 O| 4 97 238 231 7
HA| 276 657 643 14
(6) B2l & HY HEIHO Y= £7
= AR = DE2XE A 2EXNE H O Z2EXE o
20! 57 115 93 22
49! 22 66 66
501 O| 4 20 32 32
HH| 100 213 191 22
7 ZEXH7| - UotE - g4 EXNE - G0N MxE 378 27
= AtRAE = DE2XE A 2EXNE EH O Z2EXE o
19l 90 90 78 12
29l 83 113 83 30
39l 79 161 136 25
49l 63 173 123 50
591 o4t 66 258 235 23
HH| 382 796 656 140
(8) ZE2ITC FEA U FHEX
= ARAE = TEXs A 22X H L 22X o
19l 40 40 40 0
20l 90 149 149 0
39l 95 196 186 9
49l 134 227 219 8
501 Of4 145 622 606 16
HA| 505 1,234 1,200 34
9 =% 7|Et F7|=2 HH, 883732 27
T2 AR TEXs A 22X H L Z2EXE o
19l 392 392 362 30
29l 453 570 544 26
39l 351 537 496 41
49l 407 791 736 55
591 o4t 517 1,606 1,351 255
HH| 2,120 3,897 3,490 407
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o [HZY 5900|823

[ o

]

= AR = 22X A 22X " 22X o
29! 15 18 18 0
30! 19 22 22 0
49l 8 10 10 0
501 Ol 4 7 7 0
A 46 57 57 0
(11) W=t=E 0|8 LrgoAMel &%
e ANYE = 22 A 22X E 0 22X o
10l 1 1 1 0
291 5 5 5 0
30! 3 8 7 1
49l 12 24 24 0
5021 ot 23 113 113 0
HH| 45 151 150 1
(12) 8F 8t 2 gel 8Fs
e AR = 22X A 22X 22X o
10l 4,072 4,072 3,880 192
20! 5,856 7,591 7,260 331
30! 5,679 8,483 8,364 119
49l 4814 8,549 8,492 57
501 O]4 7,756 29,802 28,220 1,581
HA| 28,177 58,498 56,217 2,281
(13) 252 AR RS 3527
= AEE = ZEXE A Z2EXNFE H | ZEXEE O
20! 43 64 64 0
30! 63 95 95 0
49l 8 9 9 0
5021 o4 28 126 126 0
HH| 142 294 294 0
(14) =27
T2 AEE = ZEXE A Z2EXNF H | ZEXE O
10l 1,476 1,476 1,391 85
29! 1,790 2,584 2,474 110
3¢l 1,942 3,649 3,534 115
49l 1,350 3,181 3,002 179
501 Ol 1,827 5,847 5,601 246
HH| 8,386 16,737 16,002 735
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BjzAp [H2Y 520[E-27]

o

(15) HEZ
= AR = 22X A 22X " 22X o
10l 33 33 4 29
29l 90 119 97 22
3¢l 54 149 47 101
49l 27 51 36 14
501 Ol 110 754 256 498
HH| 315 1,106 441 665
(16) g8 E& ¢z &7
e ANEE = o2 A 22X 22X o
191 77 77 59 18
20! 165 229 202 26
3¢l 210 325 314 11
49l 173 417 390 26
501 o4 287 1,515 1,067 448
HAH| 912 2,562 2,032 530
(17) 3271
T2 ArRE = TE2EXE A Z2EXNFE H L ZEXE O
12l 304 304 174 130
29! 507 805 652 153
39l 430 861 720 141
49l 449 995 785 210
501 of4 698 2,703 1,606 1,097
A 2,388 5,668 3,938 1,730
(18) REIMR EE H XD Zelo &
= AEE = ZEXE A Z2EXNFE H | ZEXEE O
10l 28 28 28 0
20l 172 303 220 83
3¢9l 65 148 148 0
491 32 101 101 0
5Q1 O] 4 124 565 561 3
HAH| 421 1,145 1,058 87
(19) AL = OIMEX|(PM-10, PM-2.5) ZE ZHX| Ao M2 SI% ¢
T2 ArE = TEXE A Z2EXNFE H L ZEXEE O
191 151 151 122 29
201 171 255 253 1
3¢9l 180 360 285 75
49l 140 346 325 21
5021 of 4 336 8,470 8,265 205
HAH| 978 9,582 9,250 331
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20191 2AsrA e zAr [A| 2Y 5Q10|TH-24]
(5) 7t€E &2 2t YA = TS5 HA
T2 AMNEE 22X} A TEAE 20 H2EX
19l 177 177 175 2
20! 333 482 478 4
39l 448 814 809 4
40l 374 748 746 2
501 o] 367 1,135 1,121 14
HH| 1,699 3,357 3,329 28
6) 52 252 2USHALE FSH=E o
= AR = 22X} A TEAe 2 HEEX}
19l 128 128 128 0
29l 118 187 178 9
39! 131 233 233 0
49l 136 244 244 0
501 Of 4 218 550 527 24
HH| 731 1,343 1,311 32
7) =02 Rel2 REMES Hddste Ea
= AMEE —EX} A TEANE 2 H2EX}
10l 23 23 23 0
39l 3 3 3 0
HA| 27 27 27 0
(8) LF0| &2 E0l gMe|dt= HA
= AMEE = EX} A TEAN 2 HZEX}
10l 27 27 26 1
29l 22 27 26 1
39l 28 48 46 2
409l 19 30 29 1
501 O| 4 24 56 54 1
HH| 120 188 181 7
9) /2 MESIH 2 &2 UERA7|= EHA
T2 ARAE = ZEX} A cEX & 0 o2 EXL
10l 459 459 431 28
29l 737 943 773 169
39l 865 1,355 1,217 138
49l 723 1,193 1,051 142
501 o] 1,587 3,029 2,531 499
HA| 4,370 6,979 6,004 975
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20199 AegaE 2 [42Y 5900|T-27E]
(10) ALHOM DEO| HES= HA
T2 AMNEE 22X} A TEAE 20 H2EX
39l 1 2 2 0
409l 15 30 30 0
591 o4t 11 36 36 0
HH| 27 69 69 0
(11) 7tEE L& 2|5t Fa
T2 AMNEE 22X} A TEA 2 MH2EEX}
19l 10 10 10 0
49l 7 7 7 0
501 O| 4 16 16 16 0
HH| 33 33 33 0
(12) CHEFQ| XS 7|, =2t0|otolA &2 FFote B
T2 AR = 22X} A TEA 2 HEEX}
19l 1 1 1 0
29l 15 15 1 14
409l 10 20 0 20
501 O| 4 43 111 111 0
HH| 70 148 113 35
(13) &0, Mya, NYd Es H50 52 LHE
T2 AR = 22X A TEAe 2 HEEX}
19l 903 903 693 210
29l 1,272 1,765 1,184 581
39l 1,093 2,094 1,560 534
409l 1,313 2,845 2,082 763
591 o4t 2,691 8,050 5,654 2,395
HH| 7,273 15,657 11,173 4,484
(14) CHol B7| ALBSI0) HMZER @M T
e AR = = EX} A TEXAE 2L 822X}
10l 25 25 25 0
29l 33 48 38 10
39l 33 68 46 21
409l 36 90 90 0
591 o4t 47 253 242 11
HH| 173 483 441 43
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2019\ ZrdstzAAE zAr [A|2Y 5Q10| -]
(15) Ct&e| 7|8 A8t a5 Ha52 MAESIAL =a35tes &4
T2 AMNEE 22X} A TEAE 20 H2EX
19l 117 117 109 8
29l 163 235 221 14
39l 168 326 312 13
49l 185 371 360 11
591 o4t 326 843 803 40
HH| 959 1,893 1,806 87
(16) Y& £= MNZIHOM 7t&55Hs &
= AR = 22X} A TEAe 2 HEEX}
19l 79 79 61 18
29l 70 118 81 37
39! 87 228 107 121
49l 66 187 102 85
501 Of 4 144 726 395 331
HH| 445 1,338 746 593
(18) AAM KO HZAS E& AAMO| LB FX|Q| HAtR
= ARAE = —EX} A TEANE 2 H2EX}
19l 114 114 87 26
29l 153 187 177 10
39l 201 241 167 73
49l 125 247 212 35
591 o4t 487 1,315 701 614
HH| 1,080 2,104 1,345 759
(1) HAFIZEO| FXEON A= 71719 Fz EF
T2 AR ZEX} A cEXE & 0 o2 EXL
39l 1 1 1 0
591 o4t 1 2 2 0
HH| 2 4 4
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2019 e ez [H2Y 5910|2-27]
(6) &7t 2HE ZA(E@H2l 2L Y3 HSEOILE O 5o O WHO| Metstr| +2
Aol g
T2 Al UL S8
29l 14 34
3¢l 1 6
491 1 1
521 0|¢ 15 36
HH| 32 78
(7) MEhotErgrotg 2N QSN K@ m) Ol R (Rl £E 1 %o 37| B9 M4
S48ls EXO| E0f Y= B3 = S E1(hopper) o MEAIZo|Lt HEe| W&
e AME =+ el e,
49! 1 3
51 ol 39 524
HHl 40 527

(8) MZTHE L& Ho| AHRE &dRdle HRAEZ =¥E0 1 HQIEI AXEZ] O
ZHE XSHE-ED Es B3 5§ 30| £ A9 WE
T2 ARE oIS
191 27 31
3¢l 18 31
5021 of & 1 1
A 46 64

9 32 £ AR NEE 1 E&s OEQ| YR, el =48 ¥ L& OEQ| YE,
Akl Lorg Ha L& HES| LR AR MEYS 9Isto] AL8B A AHUR(silo)
5o 32 £ AARSAE HXs MEQl WE

= ARE E N o eat=s

19l 91 201

291 122 249

30! 131 202

40l 131 429
501 of 4 202 520

HAH| 677 1,601
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2019\ i defzAr (A2 50| T-27]
(10) 4tE-F=F.28 1 50| &d2des 220 SUAAL SO{UYUE HIFHD = FEFO| £
T2 NSRS U St
19l 97 243
29l 90 328
39l 74 331
409l 9 380
501 O| 4 132 731
HH| 489 2,014
(1) 2k, QY= & M2 Z, O, 2, O 50| 2oistAHL 2oE|7] #2 20| S0/U=
Q2 MR+ -AF A M=2 E= T EQ Y&
T2 ALRIE = ElE e
10l 67 72
29l 94 99
392l 96 141
49l 163 216
501 O| 4 327 481
HAH| 747 1,009
(12) E20J0{0|AS ARSI YR HEN WENSAER T YEAUHO|H2| LR
T2 AR LSt
10l 97 268
29l 170 367
39l 75 212
490l 142 324
501 O] 483 1,061
HAH| 967 2,232
(13) YE-OI2 T HA T EAVIA EE 1 5ho] 2HHIIHIH SOAAL UAAH
Bal Y3 Tk W3R S A4 e
T2 ARE U St
19 3 7
29l 35 51
39l 15 17
49l 30 40
501 Of 4 42 57
HH| 125 173
(14) H2s=7t 18% 0|2 E& 23.5% O, EHIZIASETL 15% OlY, BiatEtaszt
30ppm O|4 L& &sleAE5E7F 10ppm OAHQl Ao LYE
T2 AMRE LSt
10l 1 3
29! 6 26
39l 3 3
40l 1 1
501 o] 59 216
HH| 71 250
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EfzAp [H2Y 520|Z-27

6. 7|4 - 7|+ A MHH|HH
(1) Z32-Y4HE 38 Of
T2 T 2 X z=0j &
19l 1,048 2,736 25
29l 1,466 4,907 10
39l 1,954 7,226 0
49l 1,418 4,623 0
591 o4t 2,013 7,779 0
HH| 7,899 27,271 35
(2 ZYA-¢Hs™ 3&E 0O
= T Ei X =02
19l 1,149 2,751 0
29l 1,855 4,244 10
39l 1,644 4,065 0
49! 1,754 4,567 0
591 o4t 2,038 4,624 38
HH| 8,441 20,251 48
(3) MEH7|-YEH&EH 3E O]
T2 T g N ENORES
19l 330 355 0
29l 716 1,005 0
39l 766 1,066 0
49l 496 599 0
591 o4t 833 1,425 0
HA| 3,141 4,449 0
4) MEV|-YHsH 3E 0|
= T 2 X =05
19l 603 737 0
29l 982 1,224 0
39l 1,186 1,410 0
49l 916 1,190 0
591 o4t 1,128 1,486 0
HH| 4814 6,047 0
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s uEf AL [H2Y S5U0|IE-27]

(5) 2|2l 8 S Oo[AE-HMZFAIYQ, HEZ I A-FH5IE 2& Ol

= AR = BT S ENO
19l 3,543 4,821 25
29! 4516 7,406 25
3¢l 5,857 10,147 35
49 4,997 8,115 19
501 O] Ab 7,487 15,551 45
HH| 26,400 46,040 150
(6) A2 X DO[AE-MEFHALYQl MHEE|F Q- FH5tE 2& O[Tt
T2 AR = BT S ENEES
19l 525 560 25
20! 578 870 0
3¢9l 780 903 35
491 571 731 0
501 o4 1,085 1,385 0
A 3,539 4,448 60
(7) 3222l & SO|AE-X|EAY Ql, EtelI2l-HAd5ts 28 O|4
e AR = B S ENOES
19l 101 101 0
209l 30 30 0
39l 98 149 25
491 48 49 0
501 of4 154 205 13
A 430 534 38
8) Aol X ZO|AE-X|EFQl, EI I Q-HASts 2& O|¢t
T2 AEE = HRsg NESGES
191 125 162 19
20! 148 162 0
3¢l 54 56 25
49 38 91 0
5021 o4t 125 184 0
A 489 655 44
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szuE A [H2Y 5910]0¢

=X
- T O

9 el X ZO|AE-DO|AE-FZASHE 28 O[4
= AR = BT S ENO
10l 1,652 1,914 50
29l 2,665 3,283 1
39l 3,108 4,101 35
491 2,486 3,889 0
501 Ol 3,615 5,814 48
HA| 13,525 19,001 134
(10) 329l % SO0|AE-SO|AE-HZSIE 28 0|0t
T2 AR = BT S ENEES
10l 1,803 2,090 50
29! 2,071 2,374 11
30! 2,474 3,041 37
49l 1,922 2,677 1
501 of & 2,894 4171 1
HH| 11,165 14,353 100
(11) 32 & 20|AE-O|zA I el-FH5ts 28 0O[4
T2 AEE = Hesg S ENOES
10l 145 145 25
29I 160 177 10
39l 170 194 25
49l 196 259 0
501 O]& 430 537 19
A 1,101 1,313 79
(12) 32 & =0|AE-O|34A A el-FH5ts 2& 0|t
= A = 2o N ENe RS
10l 175 269 25
29! 190 196 0
39! 122 152 25
49l 247 341 0
501 Ol 263 319 0
A 997 1,278 50
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(13) 2| ZE(YEHER)-055 0|4t

= 7:‘MEH5*f [Z'”_%ﬂ 5?_| Dlnl_

=
L TO

]

e JUCEOPS CCRS. ECED
1l 130 130
2¢! 224 263
3¢ 259 460 25
42l 512 620 1
5¢l o 570 638 0
| 1,696 2,111 35
(14) 2| ZE(YE2Y8)-0.5= Ot
= A = FIePT TEE
= 193 258 0
2¢! 359 365 0
3¢ 402 526
42l 327 346 23
59 olg 712 899 0
A 1,993 2,394 23
(15) ==2f
= MY = BR4 EL]
12l 1 ] 0
22 12 12 0
3¢l a4 88 0
49l 43 43 0
591 0]4t o N 1
A 122 165 1
(16) A DAT ALY
= JUSFIIES ECP T
1o 82 105 0
2¢! 106 365 0
3¢ 95 207 0
4% n 115 0
501 0|4 238 398 0
k] 591 1,190 0
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A [A 2 5202

—

2%

]

(17) ZHIO0-} 2 S8 S0 o5l AEH o2 ¢l kst ZB|0[0] AlAR(10m Xih
= AR = Hesg S ENO
10l 185 291 0
20l 293 473 27
39! 432 773 25
40l 410 649
5021 o4 1,247 2,839
HH| 2,567 5,024 52
(18) ZIH[O|0-X = 52 SHO| 250 XsHez= AL RESHE ZH|0[0] A|AE(10m O[St
e AR = BT S ENEES
10l 590 978 0
291 1,177 2,469 51
30! 1,152 2,388 28
40l 1,244 3,195 0
501 of & 2,680 6,991 0
HH| 6,844 16,021 78
(19) MHE =2X-37f O[&e| 2[HA-E 7HX|L Xt&H| 0|7t 7tsot ER
e AR = Hesg S ENOES
19l 9 21 0
291 97 1,383 0
39! 77 189 0
40l 107 257 0
501 of4 186 840 0
A 476 2,690 0
(20) A8 EXR-ALIHEEZI} 271 O[5e| M-S 7HX 1 XtaH07 7tset 2&
T2 AEE = HRsg NESGES
10! 99 317 0
29 217 796 25
30! 270 649 1
40l 123 756 0
501 Ol 396 1,837 0
HAH| 1,105 4,355 26
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21) AF=EH

S7|-HHZA20| 30E(294kN) O] 4

waue = [M2Y 5001823

Sl

]

= AR = BT S ENO
19l 459 1,694 0
20! 579 2,362 0
3¢l 620 2,527 0
491 522 3,119 0
5¢1 ojg 871 5,481 0
A 3,051 15,182 0
(22) MEdE7|-EHMZZ0| 30=(294kN) 0|2t
T2 AR = BT S ENEES
19l 198 629 1
20! 357 977 0
3¢9l 465 1,727 0
491 353 1,311 0
501 0 414 2,329 2
HH| 1,787 6,973 4
(23) E217|
T2 AR = B S ENOES
191 45 54 0
20! 103 226 0
3¢l 173 406 0
491 151 233 0
501 O]& 153 563 0
A 624 1,482 0
(24) 21247
= A = 2o N ENe RS
191 807 1,270 0
20! 1,425 2,405 10
3¢l 1,225 2,301 0
491 876 2,010 0
5021 o4t 1,358 2,797 0
HH| 5,691 10,783 10
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(25) SE7|A- et

srdezAr [H2Y 5QU0IT-27

Sl

= AR = BT S ENO
19! 6,339 12,688 50
20! 6,308 16,179 19
3¢l 6,575 15,543 0
491 4,979 13,510 23
5¢1 ojg 6,081 18,054 10
HH| 30,281 75,973 102
(26) SE7|A-EE 7]
T2 AR = BT S ENEES
19l 6,273 9,949 0
20! 7,609 13,200 17
3¢9l 7,668 13,754 0
491 5,558 10,456 34
501 o4 7,199 12,804 39
HH| 34,307 60,163 90
(7) SE7[A-HA7
T2 AR = BERsH S ENOES
19! 396 559 0
20! 453 537 0
3¢l 487 793 0
491 482 642 0
501 O]& 528 854 0
A 2,347 3,383 0
(28) SE7[A - A7
= A = 2o N ENe RS
191 712 1,610 0
20! 612 1,596 0
3¢l 1,056 2,926 0
491 341 1,214 0
5021 o4t 689 2,174 0
HH| 3,410 9,520 0

254



(29) SH7|A -2

srdezAr [H2Y 5QU0IT-27

Sl

]

= AR = BT S ENO
10l 5,743 9,988 50
20! 5,539 9,714 18
3¢l 5,950 10,713 0
491 4,160 7,750 0
501 Ol 5,161 11,648 10
HH| 26,554 49,814 77
(30) @417 E= 0|
T2 AR = BT S ENEES
19l 4,077 7,286 0
20! 4,389 8,599 35
3¢9l 4,323 7,475 0
491 3,985 7,671 0
501 of & 5,180 13,522 0
HH| 21,954 44,552 35
31 =27
e AR = Hesg S ENOES
191 640 1,066 0
20! 1,117 1,729 0
3¢l 1,079 1,847 0
49l 1,164 2,167 0
501 of4 1,766 3,922 4
A 5,766 10,732 4
(32) Ifaf7| == 227|
T2 AEE = HRsg NESGES
191 535 978 0
29! 829 1,634 0
3¢l 931 1,563 0
491 844 1,876 0
501 Ol 1,609 4,243 8
HAH| 4,747 10,294 8
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waue 2 [HZ2Y 5A0[2-2

c

]

= AR = BT S ENO
10l 368 663 0
29l 756 1,117 0
39l 476 904 0
49l 573 1,037 0
501 Ol 1,147 1,827 8
HH| 3,319 5,547 8
(34) MBS E7|A-AME-EY|
T2 AR = BT S ENEES
10l 373 456 0
29! 741 829 0
30! 618 1,034 0
49l 640 1,020 0
501 o4 1,373 2,186 0
HH| 3,745 5,525 0
(35) AEIISE7|A-AME=27|
T2 AR = Hesg S ENOES
19l 330 381 0
29! 840 1,258 0
39l 627 850 0
49l 718 1,084 0
501 O]& 1,659 2,702 0
A 4174 6,276 0
(36) MBS E7|A-ME|
T2 A = 2o N ENe RS
10l 42 50 0
29! 70 300 0
39! 32 43 0
49l 33 33 0
501 Ol 143 162 0
A 321 587 0
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37) 18Y SM/HSE7IA-s2 &7

waue = [M2Y 5001823

Z‘i]

= AR = Hesg S ENO
10l 1,439 1,980 12
29l 1,676 2,443 0
39l 1,775 2,555 0
49l 1,274 2,087 0
501 Ol 1,857 3,505 0
HA| 8,021 12,571 12
(38) 18 = M7tS&7|A-7| A CHik
T2 AR = BT S ENEES
10l 456 550 0
20! 544 697 0
30! 609 846 0
49l 329 458 0
501 of & 370 442 0
HH| 2,309 2,993 0
(39) 1Y =MISE7|A-FEH
e AEE = 2o NESGES
10l 582 679 0
29I 753 963 0
39l 694 836 0
49l 485 629 0
501 oAt 816 1,127 0
A 3,329 4,234 0
40) 18d SIS E7|A-UL S| A
T2 AEE = BRE NENGES
10l 463 542 0
29! 445 604 10
39! 641 818 0
49l 466 581 0
501 O] Ab 409 454 0
HAH| 2,424 2,998 10
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2019\ 2ArEME A [AZ2Y 5Q10| P-4 ]
41) 18 SIS 7| A-EH 77| A
e AP B NECE
19l 135 147 0
20l 233 260 0
39! 121 135 0
49l 85 125 0
501 Ol 219 258 0
A 793 925 0
(42) ASXEHIE 2|EE
= AR 5= B S ESOES
19l 72 119 0
29l 59 128 0
39! 93 281 0
49l 74 106 0
501 of & 123 192 0
A 422 825 0
(44) LHE7|-HALH 0.2 MPa(Rkg/cm?) O|& QI 3&tE5E |FAFZE7|
T2 AtRE 5 BERE S ENOES
19l 110 127 0
20! 194 451 22
39! 290 517 0
49l 174 403 0
501 o] 368 874 10
A 1,136 2,373 32
(45) LHE7|-HALY 02 MPa(2kg/cm?) 0|42l 37| E&= HAFZE7|
72 ArRiE 2 He$Y NECE
19l 1,761 2,137 0
201 2,066 2,645 22
39! 3,204 4,636 0
49l 2,545 3,591 0
501 Ol 3,834 6,686 1
HH| 13,411 19,695 23
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2019\ ZrdstzAAE zAr [A|2Y 5Q10| -]
46) 7| A= HCE)
e AMNEE Hesd XN z=0j &
19l 498 653 0
29l 400 552 0
39l 532 661 0
49l 463 723 0
591 o4t 503 669 0
HA| 2,396 3,257 0
47) o =7|
e AMNEE B+ X =05
19l 187 233 0
20! 97 97 0
39l 202 241 0
49l 143 155 0
501 o] 375 429 0
HH| 1,004 1,156 0
48) BR7|-¢=Hs5Y 3& O
e AN B X z=0f &
19l 374 420 0
20! 517 760 0
39l 759 1,227 0
49l 654 913 0
501 O]4 983 1,623 0
HA| 3,287 4,943 0
49) BR7|-¢=Hs58 38 0O
T2 At = B X =08
19l 625 790 0
29l 796 1,159 0
39l 986 1,340 0
49l 645 762 0
591 o4t 1,112 1,533 0
HH| 4,164 5,584 0
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waue 2 [HZ2Y 5A0[2-2

c

]

(50) =5 EEH
= AR = BT S ENO
10l 4,617 5812 0
29l 5,432 6,733 0
39l 6,070 8,637 0
49l 4,709 6,712 0
501 Ol 6,467 10,179 0
HA| 27,296 38,073 0
(51) XAXHYA E= EHA He)-HIEE 3& 0|4
T2 AR = BT S ENEES
10l 1,262 1,729 0
29! 1,821 2,456 0
30! 2,365 2,789 0
49l 2,082 2,503 0
501 of & 3,634 4,794 0
HH| 11,164 14,271 0
(52) X AXHYA E= EHA He)-HifEgE 3= 0/
T2 AR = Hesg S ENOES
10l 4,193 5,075 0
29I 5,937 6,251 0
39l 7,569 8,471 0
49l 7,029 7,795 0
501 O]& 11,665 14,034 0
A 36,393 41,626 0
(53) s&7|==8)
= A = 2o N ENe RS
10l 311 311 0
29! 467 475 0
39! 478 499 0
49l 584 626 0
501 Ol 1,326 1,465 0
A 3,167 3,376 0
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(54) W FOtAEH Y|

BjzAp [H2Y 520[E-27]

= AR = BER+ S ENO
19l 3,183 5,658 0
20! 3,977 5,535 0
3¢l 4,097 6,472 0
491 3,105 4,871 0
521 O]% 4,821 10,036 0
HA| 19,183 32,571 0
(55) 72T Y ER|(LZA)-Clotd A T2E0| 1,000kg Of&f
T2 AR = BERs+ S ENEES
19l 1 1 0
29l 66 127 0
3¢9l 55 280 0
501 Ol 69 131 0
HH| 191 540 0
(56) 72T YR (DFA)-Clotd7tA HeE0| 1,000kg O]TF
T2 AR = BER=+ S ENO RS
19l 72 107 0
20! 58 58 0
3¢l 12 12 0
491 18 59 0
51 O]4 74 210 0
A 235 446 0
(57) E&@7|
=] AFRAA 2~ CRSES S ENCES
191 5 10 0
20! 10 10 0
3¢l 23 68 0
491 16 16 0
501 O] 17 22 0
HH| 71 126 0
(58) A7
T2 AT = 2o S EN RS
19l 3 7 0
29! 45 62 0
3¢l 146 216 0
491 114 190 0
501 o4 84 170 0
HH| 393 645 0
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(59) EH7|

waue 2 [HZ2Y 5A0[2-2

C

]

= AR = BT S ENO
19l 55 1,407 0
20! 45 458 0
3¢l 56 1,541 0
491 23 60 0
5021 o4 89 922 0
HH| 269 4,388 0
(60) L7
T2 AR = BT S ENEES
19l 188 2,670 0
20! 269 4,084 0
3¢9l 291 4,937 0
491 216 5,571 0
501 o4 410 7,646 0
A 1,374 24,908 0
61) A7
e AR = B S ENOES
191 181 607 0
22! 358 1,291 0
3¢l 207 869 0
491 153 668 0
501 of4 284 3,869 0
A 1,182 7,304 0
(62) THZ7|
T2 AEE = HRsg NESGES
191 29 53 0
20! 77 384 0
3¢l 153 655 0
491 100 279 0
5¢1 ojg 22 65 0
A 381 1,435 0
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(63) A4 7

waue 2 [HZ2Y 5A0[2-2

c

]

e AMNEE B+ XN z=0j &
19l 42 82 0
29l 14 61 0
39l 96 235 0
40l 95 210 0
501 O| 4 95 859 0
A 342 1,447 0
(64) LA7|[(2H)
e AMNEE B+ X =05
19l 8 8 0
29l 134 522 0
39! 33 77 0
49l 6 6 0
501 o] 76 152 0
HA| 258 765 0
(65) ZHI7|A-TSEZHT|
e AN B4 X z=0f &
10l 634 704 0
22! 965 1,201 0
39l 753 1,022 0
409l 731 1,112 0
501 O]4 1,803 2,560 0
HH| 4,885 6,599 0
(66) 7| A -HE7|
T2 AR B X =08
10l 267 314 0
29l 424 447 0
39l 584 614 0
409l 423 654 0
501 O|4 962 1,188 0
HA| 2,660 3,216 0
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2019\ i defzAr (A2 50| T-27]

(77) A=2H|-A= Z|HALEEO| 50 kg/AlZh Oy, HEQ d9 FALHITE 50 kw/AlZE O

= AR = BT S ENO
19! 403 620 0
20l 578 899 0
3¢l 718 1,265 0
491 540 920 0
5021 o4 1,212 2,166 0
A 3451 5,870 0
(78) =aHi7| FX|(O|sA] HL)-CtHAAL Ot HH[(RHEE 49F)-HIZE 60m/minO| &t
T2 AR = BT S ENEES
19l 143 187 0
20! 239 284 0
3¢l 147 251 0
491 267 2,740 0
501 o4 751 1,215 0
HH| 1,547 4,676 0
(79) =2H{7| FX[(O|F4] HL)-2HHAAL T AH|(FHEE 495)-HISZ 60m'/min0| 2t
=] = S ENOES
191 273 297 0
20! 336 537 0
3¢l 570 884 0
491 323 433 0
501 O]& 694 1,070 0
HA 2,197 3,222 0
(80) =AH{Z7| FX[(O]34] H L) {7hCH & e o
-BiE 2 150m/min0| &
=] = f S EN RS
10! 89 174 0
20! 229 235 0
3¢l 206 269 0
491 282 301 0
501 o4 445 693 0
HH| 1,250 1,672 0
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20194 2 BHAME]2AL [A| 5210 k-24]
(81) =AH{|7| FX[(O|sA He)-HetHydFsH=E, 7S RFH=E 2E o
-Hi=2F 150m’/minO| Bt
T2 AMNEE HeE X z=0j &
19l 194 251 0
29l 305 430 0
39l 367 494 0
409l 314 430 0
501 O]¢ 563 942 0
HA 1,742 2,547 0
(82) = AHY7| HX|(0]ls4l MQ)-HEEXIAY CHatdH|-HIEZF 150m/min0| &t
= AMNEE B X =02
10l 404 664 0
29l 686 1,083 0
39l 656 901 0
409l 743 975 0
501 O|4 1,359 1,982 0
HH| 3,849 5,606 0
(83) = AH|7| X054 Ne)-HEELEY et dH|-BiSZF 150m'/minD]
T2 AtRHE B+ =05
10l 1,089 1,940 0
29l 1,378 1,868 0
39l 1,551 2,363 0
40l 1,138 1,650 0
501 O| 4 2,087 3,802 0
HA| 7,242 11,623 0
(84) =AH{|7| FX[(O|SA Hl)-7|E Foi=2 2 A
e AMNEE B+ X =05
19l 152 309 0
29l 279 419 0
39l 343 540 0
49l 290 381 0
501 O|4 315 606 0
HH| 1,379 2,256 0
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(3) 80dB(A) O|4f ~ 85dB(A) 0|2t
N A = 38+ Z2EXNFE A Z2EXS H 2EXSE O
ME5YEA 62 64 130 130 0
SR A 564 642 1,512 1,338 174
O SAl 213 288 542 499 43
I I A 240 385 899 691 208
EAFEGA 50 80 365 289 76
CHEZ A 90 107 185 169 15
SHF A 289 431 5,359 4,981 378
MBS ERXIA| 138 235 340 288 52
471 1,151 1,643 2,865 2,573 292
PAS 102 117 279 271 9
FE5L 157 235 482 424 58
SHET 315 502 910 863 47
Mg = 150 236 600 407 193
Mete= 121 203 495 447 49
485 421 724 1,271 1,105 166
ddeE 1,809 2,718 10,057 9,557 500
N[y 17 33 82 82 0
HA| 5,891 8,642 26,372 24,113 2,260
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EfzAp [H2Y 520|Z-27

]

3. %l - B 2MEd
(1) EM -2 - ¢4 5 27
N ANYE = 22 A 22X 22X o
ME54EA 302 676 519 156
SR A 225 495 380 114
O & Al 119 258 208 50
PSR PN 9 195 195 0
SFEGA 75 178 146 32
CH &G Al 73 198 135 63
4G A 107 263 262 2
471 847 1,786 1,675 111
ZeE 185 287 284 3
SHET 237 492 456 36
SHLYE 297 716 704 12
HeEts e 283 571 556 14
HEtgE 131 229 220 9
BMET 264 499 480 19
AAEE 210 551 466 85
[ 72 109 109 0
HAH| 3,523 7,501 6,795 706
(2) HOXY = 52 Aot F= - T &7
N AR = 22X A 22X 22X o
MEEEA 2,439 4,200 3,900 300
SR A 3,240 5,251 5,050 200
O Al 2,763 4,250 4,016 234
UHEAA 2,260 3,828 3,746 82
EAFEYGA 1,237 1,896 1,853 43
CHEZ A 984 1,680 1,606 73
2AE A 1,018 3,099 2,658 440
MBS ERKIA| 102 225 173 52
471 15,139 23,338 22,910 428
PAS 1 526 1,054 1,053 1
FHEL 1,456 2,707 2,697 9
SHELYE 1,806 3,870 3,801 69
HEts L 1,018 1,517 1,471 47
HEtEE 934 2,322 2,265 57
485 2,363 3,860 3,758 102
ddeE 5,353 14,875 14,261 614
Nz 255 379 364 15
A 42,893 78,351 75,584 2,768

274



22
12
12
52

275

426
174
319
337
127
115
195
40
52
1,941

448
174
325
349
127
115
52

52
1,993

195

229
87
114
180
55
51
104
40
20
91

3k &
n N
4 i
L | 1n OO W 0 VW I < ON OMm O «— v« M| L [O IN 0O N ™ M
.EZ42M..3 m2m25688“ﬁ | - N <t
¢ - ~ ¢
n N
nd rd
— N 0O AN 00O O OO * < 1L N O N N 1N M un | N — (O I 0O I~ ™ M
¢ - ~ ¢
n N
nd rd
M I~ N O N AN AN MmO 0 X < O n I~ O O < N <t
— (N AN O un N — AN — I~ N | - -
™ ~ <+
K0
31
=<
K4
il
xr
O
_______Zx of _ ____Z
@%%%%%%WEE%%%%%%H Y o | B BB A A K
ur fo 7o Fo o Fo Ho E N o Z0 Z0 AT AT 20 30 mw o = ur o #o o o E
o <) TE & KE RS XU RORO by w1 ®l RO RO TH <o rE = K- <o
T I T ol 0T o Ko — X T ol Fo0 o Ko
= K B3
<A
o
|
=
=
5

HetsE
A

Aoz
HEtEE
NFEE




mlﬂunUOq/_nanﬁuﬁujJOrJﬂuA.ﬂan4
M_rl
TA
MH
nd
e ST N < AN — N OO O vxr NN~ 0 OOm
a0 — [Se) (o)) N~ — 228M
<f
<
MH
mnd
— T N < N O M — O N — 0 O~
= — [Se) o ~ o= 328%
<F
K
MH
nd
AN O AN AN — O —Mm O M 0 |
K0
ol
=~
K4
il
i,
=l ofl
I ol
=< K0
| =<3 R R mo
D Lo I L R T e R T Ki
< |=-|ur fo Fo MO F0 A0 BN OH Ty T o 2 2 3o | Ll
LI I3 - - m +n KO KO T AT X0 <0|Rd =
w o_._._._ Ag_u_lx_l K < _._.___| RO RO .x_.o ._A_.o %l &l T ®o =
X I T R0 T ol Ko ~n a0
.r__t B3 e
(W)
dld
L !
ok
< T
o OF
o ©

22
22
16
48
32
25
12
140

T2A O
T2A o

Lk
111
71
191
f
299
13
33
26
34
70
72
100
656

AL
T
A
T

ZEXt
2xt

1
[

133
71
213
315
13
33
73
41
102
98
112
796

T2 A
T2t A

56
35
100
13
20
24
20
38
58
39
382

161

QO M= 38 =T

IT

ENZ

47|
HH|

. 'g)g

MEEEREKA|

871&

Hetsk

Hetg:
HAl

- Uztk=

7) =X17]

276



M_rl
TA
it
al
o | O VW O N 1N OO N — 1N OO0
MO~ — — 1 1N < — N < N N | O
[qV] (e8] 217_:
<F -
K
it
Gl
- < W O Al N O N — N O|%
.—ﬂ|731554234323
[qV] o™ 217_:
M__n -
K
it
all
AN N O OMm St OO0 W O niwn
%0
ol
=
T IIXIX
woaroaroaroarow S B U
8 lur #o 7o mo Mo ~ A U I0 I J0IR
ﬂ%r_?ﬁr_woﬂoaagéﬁ
< N Ko & ORI RO RO

9 2% 7|Et 27|29 A

g POonNgogoooooogon
- - <
M_n

K

M

rd

2 [ 0 O WU M N X O ¥ O 0 AN © 1 — N IO
Mw <« LD © 1N — A NN O O < OO0l O M — | A
<4 S N — — o - — N ™M <
M__n o0
K

M

rd

_|t 0 0 © O 0 <t ! ST O ®A W W MBI~
TN ORI NO OO F O MO W — |0
© 1N N - - o) - - N ™M =)
M__n o
K

M

rd

M St O OO mMmIMN~NOINSTO®WS WO O O | O

o

K0

o1

<

< X XXX XX

eI T T i M e s T
ar 2 2 2 o o2 = —L VI 30 IF 30 1f o =
= Wr M0 MO0 {0 MO HO MO0 N of 0 Z0 = 2T %0 %o K- ha
o_._._._A JIM:Ir_I_AA_./_/.x_.O._A_.o._.Aln_._.Aln_.__/._.OﬁOTA
X I+ T ol Ho T o

T2At O

2% o

34

18
57

T2t A

34

18
57

25

18
46

871&

I

—_,

Klo

0

-

HH|

277



TE2A o

T2Xt O

Lt
150

EFIeS
131

—1
[

Lt
20

2Rt

1
[

131
151

T2 A

20

T2At A

33
45

13

Hates
HH|

Hetg:

N o MmO O O 1n O O — N o VW m -
Bl © 0 O < N~ N~ - O O =]
— — 3] LN — — N N
M__H (aV]
n
rd
Ll o m O VW VW oo MmMST AN — OO W A NN~
v I O O~ 1N O N AN VW AN~ — N~ N — |-
O 000N AN - 0O ¥ — 00mMm O O TN
.A_l1211 — < N — AN M — N N — O
N — — un
n
rd
—O — VU O VW VW Mmoo N < T N O O N W — |0
IO OO N~NOO MAN®©OONNANIDNTST NG
— ® O O Y - n o N Ao NN~ Y
= & oA — < O — AN m — & N ©0
ar — — N
n
rd
M NN O - O X N~NA-— —NOOO N~ ©|N~
— — O O~ AN O N O NN O O S S N O~
Mo @M s S N = MM e Q00NN
— = o — - - ™ 00
— N
e ___x
X X X <X <X <X <K H
U Br 8 8 @sr 8 8 k W o _._._W
Wr 0 MO 7O 0 Mo Mo W N g K- zl
ot % - &) OKE R XU RO ) =
T IO F ol AT o Ko
=z

TEETEN

ar

ey

0
Of

54
45
38
26
109
294

54
45
38
26
109
294

54
22
13
33

142

A
HA

278



TE2A o

11
14
32
82
5
0
20
2

n
o

RS

—1
[

26

362
746
336
520
250
292
341
7,934

EE Ny

28

373
760
368
602
254
292
361
8,287

15

274
412
225
308
128
161
177
3,918

(14)

Al

o
=
A
__I.I.
H
=
T
H
A
MBS SR

353
20
41
33
24
19
68

735
74

117
58

234

163
19

665

279

Z2A% O

420
846
548
456
601
835
1,277
214
16,002
Lt
39
101
29
48
156
55
14
441

2 Rp5

1
[

429
866
589
489
625
854
1,345
217
16,737
113
218
87
48
390
218
32
1,106

T2t A

220
359
360
224
263
508
708
126
8,386
50
34
39
48
93
43
315

37|=
detss
dete s
HFE
A
ChRZ oA
47\
detss
A




N O O U O W O VW O O +— O N NN NN OO
T ST g° e &
m_h
TA
M
rd
| O 0O — < ON M W O O AN N O O W «—| N
Lm%3933ﬁﬂ m1391.,_|748 %
M_n o
>3
MH
rd
— N O — O O O M Al 0 O < N AN &N O «— | N
ﬁuﬂ_39m3% %1331)17400 %
m__n o
K
M
rd

O AN O 0O OO ™ (N 00 W OO 1N NN O O M v~ | N

- M © - — < - < — N MmO -
b= < o
K0
&1
=

- ___=

< X X X X XK

IR R T T e A S A TV
ar oA L Vo o ook 3o o do =
—|Wr {0 0 MO MO FMo B W OF Ly Tg = o =y o KE|R
K i - = m +n KO KO AT W X0 X0 = |Rd

OI._._AL_|_I.IL._~A|LAL_._.___u_JO_./o.x_.o.x_.o._.Aln_._.Aln_.__./.ﬂoﬁolT_Al

X I T ol T ol ko

=z

N O VW VW WO O AN—OUONMNTYTLWANONO|NO
mu_,H 515Q 1&8%66267 B
M_H -
K
mH
nd
LN NN - N 0N OO0 N O 0 Y — M — |
o — m O O~ < O N W O MmN~ O N M
MW — m
K
nH
rd
— OO~ O N MO NN N ™ — OO Mm o Mmoo X < — |
T~ O© < A0 0~ © O MO IWmILWInIImmWO ~| O
™M — - - N N S n o SN ©
M_n — n
K
mH
rd
S N O - Al MO O +— N~ O O S W1 Wn|©
T ¥ MY O — 0O T OO0 O © AN 1 Mm|©
{F|— O - - - N — N — o
Y
K0
ol
<
- ____=
<X XXXXXXK
W80 8 oar aroar A o o S U oW
ar S e S S A =t =\ I 30 1 30 o GO =
Kilow %1 b =1 K- &1 %0 ur Ro Ro KO KL Aomo<D < | K
T I T ool M0 T Ol Ko Ko Ko &I &I RO RO
=

280



il
ol
a1
K

=

4L

0
1
i
o

oF
xa

C

A

(18) |2

22X o

115

79

Lt
a
2,917

2Rt

—1
[

79
3,032

TE2At 7

HX| S0 2| 2 QIEHY
62

=13
=3

<k
TA
M
rd
Ll O mnm A mM!ny M wn n o — |0
| © < M W — M N0 = — |
o N o e
M_“ -
K
I
4
— T @ &~ NN O M W0 wn o W
Ny NN < O~ — M AN N -
<t [qV} N b
M_“ -
K
4
4
— N N~ — O ™M w0 N — X ~
AN — — — — — — ™M o0 [aV]
A - 4
< X X <
AN
ur [ Ao MW =T BT KE ._.M
o <1 - &R0 oy =
X I T ol

89
236

Ab EEE OIMEX|(PM-10, PM-25) B
&G Al

3

=)
S

(19)

ar

ey

™0
Ot

93
33
48
42

331

281

585
67

26
277
41

11
419
4,828
9,250

677
67

26
311
41

11
467
4,870
9,582

27
13
186
16
165
178
978

Lt
A

Hotse
a}

87=




BjzAp [H2Y 520[E-27]

4.3 Che o %
M 8 £ M2 T 452 ME "Hse ¥
N AR = 22X A ZEXE 2 22X
MZEEA 28 72 64 9
EALZAA 8 8 8 0
CH 2 Al 15 31 31 0
IHEAA 27 412 275 137
471 64 134 120 14
SHEE 14 42 14 28
Hetse 5 6 6 0
Hetde 19 56 37 19
EHER 8 22 22 0
FAHE 12 36 36 0
HA| 200 820 613 207
) & 2 2% B35 2|8 gishs B
WNE AR = 22X A ZEXE 2 O 2EX}
ME2EEA 55 79 79 0
SAFAA 121 203 194 8
CH 2 Al 68 147 147 0
uESEEs:PN| 40 85 85 0
CHE A 6 11 11 0
SMFAA 13 52 52 0
SEHXX|A| 71 142 142 0
471 340 598 584 14
SHER 31 61 61 0
SEHE 11 11 11 0
HMElEE 4 13 13 0
et = 8 23 23 0
daE 106 306 306 0
AT 46 297 297 0
HA| 920 2,026 2,004 22
(3) BA7| EE JIHE AHIESH)E B
WNE ArRIE = T EX A TEX 0 O H2ER
CH2 YA 26 52 34 17
uESEE PN 9 9 9 0
SEEXKA| 1 1 1 0
471z 130 225 168 57
PAS 13 13 13 0
SHEX 13 13 13 0
SHEE 46 93 46 46
HMetse 12 23 20 4
HMetgde 43 86 75 11
EYER 37 62 21 40
AYEE 13 27 15 12
ps[E=4 7 7 7 0
HA| 351 610 422 187
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BjzAp [H2Y 520[E-27]

(4) B2 v~ TE 2 S Ba
WNE ArRIE = T EX A TEX H 0 O HIER
ME2EEA 3 9 7 2
S 7 15 15 0
CH 2 Al 17 22 21 1
QUM G AA 12 14 14 0
SN 3 3 3 0
47\ 47 83 82 1
2= 13 13 13 0
SHER 9 11 11 0
SEHE 8 15 15 0
AMER 20 62 56 6
BHEE 26 55 55 0
HA| 167 302 291 11
(5) 7HEE B42 28 AW EE IHSE B
WNE AR &= T E2X A TEX 0 O8I ER
MEEEA 76 164 154 10
FALEAA 185 277 276 1
CH2 YA 113 247 245 2
IHEB YA 110 192 190 2
HFEAA 9 9 9 0
CHM A 8 19 19 0
242N 13 31 30 1
NZELEXK[A| 71 142 142 0
471z 668 1,088 1,080 8
85 53 117 117 0
SEHE 26 52 52 0
Hets e 21 52 52 0
et = 8 23 23 0
ae 101 251 250 1
BMEE 237 692 690 2
R 1,699 3,357 3,329 28
(6) =0 FH8 REFIAL Felste Ta
WNE AR = 22X A ZEXE 2 O 22X
ME5EA 45 69 60 10
S 97 162 162 0
CH 2 Al 63 89 89 0
IHZ A 38 92 83 9
CHE A 15 26 26 0
24 A 13 26 26 0
d71E 273 408 394 14
SHER 30 58 58 0
SEYE 11 11 11 0
HEEE 8 34 34 0
Metd = 8 15 15 0
BMER 109 252 252 0
A 21 102 102 0
HA| 731 1,343 1,311 32
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2019\ i defzAr (A2 50| T-27]
(10) ALOIN THO| Wabdhs Fa
WNE ArRIE = T EX A TEX H 0 O HIER
ME5EA 8 31 31 0
CH 2 Al 1 3 3 0
471 1 3 3 0
PAL 13 27 27 0
SHEX 1 1 1 0
SHUT 1 2 2 0
ZAEE 1 1 1 0
HA| 27 69 69 0
(1) 7t2E =5 2ot B
WNE NEEES 22X A ZEXE 2 o2 ER
FALZAA 16 16 16 0
471E 7 7 7 0
BNEE 10 10 10 0
A 33 33 33 0
(12) CiEe| XS 7|, EEto|ot0|A &3 FFots FA
WNE AN 22X A ZEXE 2 o2 EX
SALZAA 1 1 1 0
471z 35 101 101 0
85 14 14 0 14
= 10 20 0 20
Metd = 9 11 11 0
HA| 70 148 113 35
(13) H&D, Men MYD E= WEsD SO LiE
WNE ArE = —TEX A DEX 0 O HZER
MEEEA 817 1,870 1,479 391
EARZAA 364 867 471 396
CH 2 Al 350 719 596 123
EEAA 257 471 392 79
FFE9A 262 516 344 173
CHE YA 217 389 271 118
S4E A 112 243 187 56
NS ELXK[A 25 25 24 1
4d71E 1,701 3,554 2,830 724
PSS 517 1,084 467 617
SHEX 309 597 408 189
SHEE 335 741 573 168
HMEEE 434 809 557 252
HMetd = 475 997 690 307
BMER 464 1,307 808 500
AYEE 433 958 685 273
NFE= 199 509 391 118
HH| 7,273 15,657 11,173 4,484
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S 73 75 0
CH 2 Al 106 120 0
IHEZ YA 60 60 0
AN 35 36 0
CHE Al 48 50 0
24 A 39 54 0
NZELXK[A 13 13 0
471= 832 1,091 0
Pag L 88 89 0
85k 166 186 0
SHEE 182 288 0
HMEts e 191 220 0
HMetgde 137 138 0
dMER 205 219 0
BNMEE 267 298 0
NFEE 43 43 0
Al 2,660 3,216 0
67) 2%, &= 8dl=-x0f 8 8T 35/2 £= 3=/A1Z 0|4
WNE AEE i NECE
SAFAA 32 49 0
CH 2 Al 10 16 0
AN 4 4 0
471 36 58 0
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HMetee 8 8 0
ZHER 35 108 0
HH| 128 250 0
68) 25, &= Bol=Z-%0f B 8 3E/2| E&= 3E/AI7F O
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MESEA 61 71 0
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CHT2 YA 90 170 0
aESEs:PN| 85 103 0
CHM A 6 11 0
SMFAA 33 59 0
471 336 712 0
85 9 28 0
SEHE 11 27 0
Hets e 17 22 0
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A 21 51 0
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24 AN 1 1 0
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IHZAA| 1 10 0
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SHEE 2 4 0
Hets 6 21 0
dae 2 3 0
FodE 6 6 0

NFEE 1 1 0

Al 52 102 0
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SFEIEYOISIE 27 1 0 0 0 0 1
LIEEZZ|ME 14 2 1 1 0 4 9
L|E 20 Et 14 1 1 0 0 3 7
p-L|EZ0otE 8 0 0 0 0 3 4
C| o £ OF & 21 (OFO| L | | 4 Bl ) 8 1 0 0 0 0 1
N,N-C|H E OtN| E OO = 32 83 0 0 0 0 0
mu; == Yol Jul = 79 106 0 0 0 0 1
C|oj| &= 0t 2l 135 5314 0 0 0 1 4
Clof &l Eg|ofal 8 47 0 0 0 0 1
2-C|of ElotO| .= Of EH2 10 6 0 0 0 0 1
CIof 2 OH 2O 2O H £) 65 2 0 0 0 0 2
1,4-C| =2 A 1 5 0 0 0 0 0
Clo[A~REAE 79 6 0 0 0 1 2
CI222 0t 515 13,932 1 0 0 0 2
QM CIZZZHIH 1 0 0 0 0 0 0
CISEEEFQEM0|E 55 2 5 4 0 2 4
11-C222-1-E8Z0fE 19 56 0 0 0 0 1
CIStO| EZ A|HIH 76 6 0 0 0 0 2
2-H| EA|0f EH2 2 1 0 0 0 0 0
Mg HALE C|O|AAOIHOIE 162 1,966 0 0 0 1 3
o| £l ot 2l 1 11 0 0 0 0 0
HEYAZ 1,668 9,805 0 0 0 1 3
HEOEAHE 1,537 5,133 0 0 0 0 2
o 20| AR EFHE 1,202 254 1 0 0 1 3
HEE=220/= 17 0 0 0 0 2 5
HE -Z-OotLAE 32 1 0 0 0 0 0
Hes2zzsxs 43 4 1 1 0 0 2
e oisto|Egtol = 26 83 0 0 0 0 1
ZEfEIA5I0| ERO| E 24 315 0 0 0 1 1
Bl (5 2| 20.1%0] &) 487 189 1 0 0 2 6
1,3-FELC| (S 2FH|20.1%0( &) 1 0 0 0 0 0 0
O|Xp-2EAE 29 1 0 0 0 0 2
LY-REF 600 1,707 3 1 2 1 4
H|'E OLM|E|O|E 188 1,704 0 0 0 1 4
AE|E 315 38,201 0 0 0 1 2
AR = 515 270 1 1 0 1 4
A S 2L 568 127 1 1 0 1 4
N 43 1 0 0 0 0 3
ofd oo Myt O SEH 25 6 0 0 0 1 1
OtMELIEZ 60 11 0 0 0 0 1
N ES 2,082 2,192 0 0 0 0 2
O EZHIs|IE 1 0 0 0 0 0 0
OlmEERLEZ 17 69 0 0 0 0 1
ofaEotnl= 21 224 0 0 0 0 2
Of| EFZ 0t I 1,091 84 1 1 0 2 5
of| £ 1,225 1,224 2 1 1 1 3
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OIS 2R EOIMHOIE 90 39 0 0 0 1 3
oEHZZE 372 1,875 0 0 0 0 1
2-EZR0ES (O EHEZ 20| =2) 11 0 0 0 0 1 1
1,2-0|ZA|Z2 2 26 10,848 2 2 0 3 7
2 ESHE 20 6 1 1 0 0 4
O|AFESE 302 290 1 0 0 0 2
O|AOtULZ 13 0 0 0 0 0 0
olAZzd 4= 2,458 3,137 0 0 0 1 3
0|&3}EtA 1 0 0 0 0 0 0
EMOE 362 504 1 1 0 0 2
EAEE 1,514 2,730 1 0 0 0 2
ZAOE 1,520 7,168 1 0 0 1 3
FAtmz g 114 138 0 0 0 1 3
E O E = 95 47 0 0 0 0 1
ZMo|azZzd 5 0 0 0 0 0 0
Z4to| Aot 31 48 0 0 0 1 2
Y EEZE0|9H|) 20 50 0 0 0 0 0
(A o e} THet O] H|) 3,111 9,769 2 1 1 1 3
S22 I 6 0 0 0 0 0 0
123-EE|E22Z2T 1 0 0 0 0 0 0
H Egtsto| =2 F2t 64 12 0 0 0 0 1
E 2 4410 16,042 0 0 0 1 3
ZFU-2,4-C|O|2A[OtH O E 38 52 0 0 0 0 1
=F-2,6-C|0|AA|OLH|O| E 1 5 0 0 0 0 1
Egz|ootgl 52 6 0 0 0 0 1
Ez|Z2ZZ20&t 34 9 0 0 0 0 1
EZ|Z2220|2H(BZHI20.1%0| &) 219 228 0 0 0 1 3
HEZ20 2 14 3 0 0 0 0 0
H=(ZEH|20.3%0[ 4 11 4,949 0 0 0 0 0
EEUHS E(BEH20.1%0[ 4 94 7,026 0 0 0 0 1
AECIESHE 199 508 1 1 1 0 2
o2/ 1 0 0 0 0 0 0
50| =2tz 11 0 0 0 0 0 1
SALH E C|Oo|AA|OFH[O|E 59 249 5 2 3 1 4
Sl Ab(n-3lAh 715 855 1 0 0 1 3
S EHn-2Eh 171 523 0 0 0 0 1
7t&el 77 4 0 0 0 0 1
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2 & 19 1 1 1 0 1 5
ClR-O sl AZEHY 0| E 128 673 1 1 0 1 2
Bo| X m LtZ=E} 72 4,528 0 0 0 0 3
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T2 OztetE 3,003 9,546 1 1 0 1 4
HRAR 7|52 (EEH|20.3%0|4) 780 1,683 1 0 0 1 4
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OtAS OBl & 1,029 14,517 1 1 1 1 2
QHE|2 Sl O35 = (B 3H|20.1%0| &) 25 42 0 0 0 0 1
LR0jsHIaseE 1,757 96,987 1 1 0 1 2
feey=4 11 0 0 0 0 0 0
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Fitet Z4E 128 1,195 0 0 0 0 0
= R=r 68 6,714 0 0 0 0 1
Gt 993 16,602 0 0 0 1 3
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A 757 5,101 0 0 0 1 3
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ZAHE EHIE20.1%0( &) 1,114 188,365 0 0 0 1 3
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